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ПРЕДИСЛОВИЕ

Настоящее учебное пособие предназначено для магистров экономических специальностей в области экономики, ВЭД, финансово-банковской системы, бухгалтерского учета, аудита, налогообложения, маркетинга, менеджмента  и т. д. 
Учебник состоит из 8 уроков (units), в которых разработаны следующие темы: «Market economy», «Three basic kinds of business», «Management and Organization», «Price elasticity of demand and supply», «Circular flow of payments and national income», «Challenges of globalization», «Inflation», «Taxes and public spending», «Bookkeeping». Кроме того, в учебное пособие включены  словарь экономических терминов, тесты и грамматический справочник (видо-временные формы глаголов, простые формы причастий и т. д.). Каждый из уроков рассчитан на 6–8 ч аудиторной и самостоятельной работы.
Большое внимание уделяется изучению грамматики, как основы понимания и создания высказываний на иностранном языке. В уроках имеется множество упражнений на ее закрепление. Для работы над лексическим материалом используются тексты из современной литературы, охватывающей многообразные сферы экономики, менеджмента и налогообложения. 
Unit 1. Market economy
1. Словарный минимум. 
1) economic – экономический

2) economical – экономный

3) society – общество

4) allocate – распределять
5) consumption – потребление
6) at high\low prices – по высоким\низким ценам
7) decision – решение
8) rely on – полагаться на
9) intervention – вмешательство
10) restriction – ограничение
11) evolve out – развиваться
12) overlap – совмещать, совпадать

13) flagrant abuse – явное нарушение

14) dampen – ослаблять, сдерживать

15) dub – приравнивать
16) good – товар
2. Найдите в следующих предложениях сказуемое и переведите предложения на русский язык. Обратите внимание на слова из словарного минимума.
1. For 40 years after 1945 countries in Eastern Europe had planned economies in which market mechanisms played only a small role.

2. The government plays an important role in allocating resources in the country.

3. Resource allocation decisions are being made every day in every city, mostly through the mechanisms of markets and prices.

4. The ideas of Adam Smith, the famous Scottish philosopher and economist have been studied by economists for over two hundred years.
5. Prices are regulated by the production and consumption in a market economy.

6. The problem of the government regulation of markets is to control how government restrictions work in real life.

7. The market is to decide how much to produce.
8. A building society is a financial organization whose purpose is to help people buy houses or flats.

9. Governments are to regulate or plan production and consumption.

3. 10. Economists’ recommendations may be of high value to governments but governments do not always rely on them.
4. Переведите предложения, заменяя формы действительного залога на формы страдательного и обращая внимание на видо-временные формы глаголов.

1. The government made all resources allocation decisions in the Soviet Union.

2. Prices regulate consumption and production in a market economy.

3. In a mixed economy the government does not regulate the exchange of goods.

4. The economists are monitoring the prices and levels of consumption of different goods and services.

5. Economics analyses the society’s production and consumption levels.
6. If we allocate enough resources to agriculture, we will achieve a high level of production.

7. Nations have different levels of farm production.

5. Раскройте скобки и употребите глаголы в соответствующей форме.

1. There (to be) various forms of government restrictions and regulations in economies.

2. Turkey and Norway both (to limit) profits of firms, the latter also (to control) process and wages.

3. In Bolivia the tin mines (to nationalize); in China communes (to establish); in Cuba the government (to own) many industries and firms; and in Britain eight basic industries (to nationalize).

4. A free market economy (to be) rare in the world.

5. The level of economy regulation (to be) different in different countries. 

6. In some countries it (to grow) in recent years, in others more freedom (to grant) to firms and individuals.

7. But the general tendency (to be) to keep government regulation at quite a high level.

6. Переведите следующие предложения на русский язык, обращая внимание на функции причастий.
1. Exports are good and services sold to other countries.

2. In free market economies changes in price are never results of regulations imposed by governments.

3. Imposing some restrictions on food prices, governments make it possible for all people to buy enough food.

4. Knowing that their resources are limited, people make a decision how to allocate them in the best possible way.

5. The government itself can regulate monopolies controlling the prices or supplying the products.

6. In East-European countries consumers couldn’t get goods, and factories couldn’t buy inputs at prices held low by governments.

7. Governments intervene in economies controlling the supply of money, limiting monopolies and helping private industries.

8. An improvement in technology will increase the supply of goods increasing the quantity supplied at each possible price.

9. Governments regulating economic activities impose some restrictions.

10. At prices above equilibrium we have a situation known as excess supply, or surplus.

11. Stabilization of prices is having an importance to industrial nations as well as to the Third World countries.

12. Reducing our imports we decrease the exports of others.

5. Прочитайте текст и переведите его, обращая внимание на словарный минимум к тексту. 
Market economy

Economics is a science that analyses what, how and for whom society produces. The market is the process by which production and consumption are coordinated through prices. There are three types of economies: command, market and mixed. In a command economy, a central planning office makes decisions on what, how and for whom to produce. A free market economy has no government intervention. Resources are allocated entirely through markets. And many modern economies are mixed and rely mainly on the market but with a large dose of government intervention. 

The American economy is a dynamic, free-market system, that is constantly evolving out of the choices and decisions made by millions of citizens who play multiple, often overlapping roles as consumers, producers, investors and voters. The United States is generally described as a mixed economy, which is to say that even though the great majority of production resources are privately owned, the federal government does play an important part in the marketplace. 

U.S. productivity and standard of living remain among the highest in the industrial world. An economy based on free enterprise is generally characterized by private ownership and initiative, with a relative absence of government involvement. However, government intervention has been found necessary from time to time to ensure that economic opportunities are fair and accessible to the people, to prevent flagrant abuses, to dampen inflation and to stimulate growth.

The economic system of the United States is principally one of private ownership. This system often referred to as a “free enterprise system”, can be contrasted with a socialist economic system, which depends heavily on government planning and public ownership of the means of production. Yet government has to some extent always been involved in regulating and guiding the U.S. economy. At the same time, U.S. citizens have always had the freedom to choose for whom they will work, and what they will buy.
In the U.S. economic system, consumers, producers and the government make decisions on a daily basis, mainly the price system. The market primarily force is the interaction of producers and consumers: this had led analysts to dub the U.S. economic system a “market economy”.

6. Составьте вопросы к тексту “Market economy”. 

7. Учимся читать и переводить выдержки из газетных статей. 

David Cameron gave a big speech on Britain’s future relationship with the European Union. The prime minister called for a radically leaner EU and promised to negotiate a new settlement that  will be put before British voters (if he wins an election in 2015) in a referendum that will offer an “in” or “out” option. Angela Merkel, the German chancellor, said she wanted a “fair compromise”: ”Germany, and I personally, want Britain to be an important part and an active member of the EU’, she said. (The Economist, January, 26th, 2013).
The decision by finance ministers in the euro zone to create a European Stabilization Mechanism as a permanent system for resolving future sovereign-debt difficulties did little to soothe markets, at least at first. The mechanism distinguishes a “solvency” crisis from a “liquidity” one, with bondholders in insolvent countries expected to take the brunt of losses, but does not come into force until 2015. However, markets were encouraged by a hint of more immediate help from the European Central Bank, Jean-Claude Trichet, the ECB’s president, advised that people were “tending to underestimate the determination” in Europe to solve the debt crisis.
Unit 2. Three basic kinds of business. 
Management and Organization
1. Словарный минимум. 

1) quantity – количество

2) equilibrium price – равновесная цена

3) raise – повышать, увеличивать

4) surplus – излишки, перенасыщение рынка

5) influence – влияние, влиять
6) income – доходы, прибыль

7) substitute good – товар-заменитель
8) complement good – товар-дополнение
9) inferior good – товар низкого качества
10) input price – цена ресурсов, основных средств производства
11) impose – облагать (налогом, пошлиной, штраф, обязательства)
12) demand – спрос
13) supply – предложение
14) relationship – отношение
15) budget constraint – ограничение бюджета
16) marginal utility – предельная полезность
17) obtain – получать
18) expenditures – расходы
19) depend on – зависеть от ч-л.
20) affect – влиять на ч-л.
2. Переведите предложения на русский язык и выпишите все экономические термины.
1. Demand is the quantity of a good that buyers wish to buy at some price, at low prices the demanded quantity is higher.

2. Supply is the quantity of a good that sellers wish to sell at some price, when prices are high, the supplied quantity is high as well.

3. The market is in equilibrium when the price regulates the quantity supplied by producers and the quantity demanded by consumers.

4. When prices are not so high as the equilibrium price, there is excess supply (surplus) reducing the price.

5. An increase in the price of a substitute good (or a decrease in the price of a complement good) will at the same time raise the demanded quantity.

6. As consumer income is increased, demand for a normal good will also increase but demand for an inferior good will decrease.

7. A normal good is a good for which demand increases when incomes rise.

8. An inferior good is a good for which demand falls when incomes rise.

9. An improvement in technology is an important for increasing the supplied quantity of a good as a reduction in input prices.

10. Government regulates demand and supply, imposing ceiling prices (maximum prices) and floor prices (minimum prices) and adding its own demand to the demand of the private sector.
3. Переведите следующие предложения на русский язык, обращая внимание на причастные обороты.
1. In East-European countries consumers couldn’t get goods and factories couldn’t buy inputs at prices held low by governments.

2. The high price for a good is a market mechanism telling suppliers that it is high time to increase production.

3. Governments regulate economic activities imposing some restrictions.

4. Active money is money going from man to man and used by people in buying and selling goods and services.

5. At prices above equilibrium we have a situation known as excess supply or surplus.

6. Income is money of all kinds coming in regularly to a person, family or organization.

7. Reducing our imports we decrease the exports of others.
4. Прочитайте и переведите текст. 
Three basic kinds of business

Once you know the general area of your interests, consider that there are three ways you can serve consumer needs in that area: making a product (manufacturing), selling a product (retail or whole sales), or providing a service. These are the three basic categories of business. Of course, these categories overlap, but if you analyze the businesses you know, you will see that one category predominates. For example, meat-packing company, a supermarket, and McDonald’s are all involved with hamburgers in some way, but for the meat packing company, production is the main activity; for the supermarket, sales is the main activity. With McDonald’s classification is more complicated. Do they sell a product (hamburgers) or a service (cooking the hamburgers and providing a place to eat them)?
At one time, basic manufacturing was the main business of U.S. business. Today, service is rapidly becoming dominant. Service is involved in many large and profitable enterprises, including health care, real estate (realtors don’t ordinarily build and stock houses; they act as brokers between buyers and sellers), stock brokerage, and such recent additions as computer programming and consulting. Services are what busy people need done for them because they don’t have the time to do it for themselves. It is just a creative mind and some talent to come up with a brand-new business in the service line.

5. Найдите в тексте английские эквиваленты для следующих русских слов и словосочетаний.

1) удовлетворять потребительский спрос
2) продажа продукции

3) розничная и оптовая торговля

4) доходные предприятия

5) биржевое маклерство

6) совершенно новый вид услуг

7) здравоохранение

8) недвижимость

6. Переведите следующие предложения на английский язык, используя лексику предыдущих упражнений.

1. Этот товар продается только оптом.

2. Оптовые цены всегда ниже розничных.

3. Новый закон затрагивает права частных предпринимателей.

4. В сфере услуг заняты многие доходные предприятия.

5. Частное предпринимательство основывается на четырех правах: право на частную собственность, свободу выбора, прибыль и конкуренцию.

6. Наша компания заключила очень выгодную сделку.

7. Это предприятие может быть очень доходным, если им правильно управлять.

7. Перескажите текст «Three basic kinds of business».
8. Прочитайте, переведите и проиграйте диалог “At the office”.

Mr. Smith: Let’s have a look at the diary. What are the engagements for today?

Secretary: Mr. Green has an appointment for ten. And there is a conference at three.

Mr. Smith: Get the documents ready for the conference. I will be busy till twelve.

Secretary: Shall I arrange for Mr. Green to come later?
Mr. Smith: Yes, you’d better. Phone him straight away and then attend, to the documents. 
***
Mr. Black: Could I speak to Mr. Stain, please?

Secretary: Hold the line, please. I will see if he is in the office.

Mr. Stain is one another line at the moment. Will you hold on a little longer or call back later?

Mr. Black: I’d rather leave a message, if it is possible.

Secretary: Yes, of course.

Mr. Black: Will you please ask him to call at Mr. Black’s office tomorrow at two o’clock.

Secretary: All right. I will tell him.

Mr. Black: Thanks a lot. Goodbye. 
9. Прочитайте и переведите текст «Management and Organization”.
Management includes those personnel who have the right to make decisions that affect company’s affairs. Organization is the means by which management coordinates the efforts of employees to attain the company’s objectives1. Organization involves structure. An organizational structure is a framework enabling management to delegate and control the responsibilities of individuals and departments. In this way, a company can function as a unit with the same efficiency as a business run by one person. Once organizational structure has been established, areas (and sub-areas) of activities, levels of authority, and duties must be clearly defined. Yet with this structure, allowance must be made for the initiation. Good management permits employees (and manager) to grow according to individual abilities. This is a valuable asset to a company in that individual talents contribute to organizational growth.
Communication is of great importance in organizational structure. A smooth two-way flow (from management to employees and from employees to management) ensures efficient functioning through feedback, suggestions and grievances2.

There are three management levels: top management, middle management and operating management3. Top management includes the president, vice presidents and the general manager. Middle management includes department managers, plant managers, and production superintendents4. Operating management includes supervisors, foremen, etc.

1 To attain the company’s objectives – чтобы осуществить задачи, стоящие перед компанией.
2 Feedback, suggestions and grievances – обратная связь, предложения и жалобы.
3 Top management, middle management and operating management – высшее руководство, руководители среднего звена, оперативное руководство.
4 Production superintendent – начальник производства.
10. Ответьте на вопросы к тексту “Management and Organization”.

1. Whom does management include?
2. What is an organization?
3. What must be defined after the organizational structure?

4. How is efficient functioning ensured?

5. What are the three levels of management?

6. What kinds of managers does each level include?

11. Прочитайте и переведите текст “Management functions”.
The overall responsibility for decision making encompasses1 the following managerial functions.

Planning. The process of establishing organizational goals and a strategy for their accomplishment is known as the planning function. It is concerned with the future – immediate and/or long range.

Organizing. Once goals and strategies have been formulated, organizing makes things happen as planned. This is an operational function: it depends heavily on the coordinated effort of an entire organization.

Directing. This is the motivational function. An organized effort requires complete cooperation and, in directing operations, management seeks to obtain a high level of production from employees through motivation and proper guidance.

Controlling. The control function monitors the achievement of goals and compares actual results with those projected in planning as well as actual performance in past periods.

Staffing. This is the process of finding the right person for each job. It involves matching individual qualifications to job specifications. Staffing is an on-going function2 because once a position is filled, performance must be evaluated and employee growth encouraged. Further, the chain of promotions, retirements, resignations and terminations is never – ending and always results in staffing needs3.

Innovating. This is a creative function. Changing times require new approaches, advancing technology demands new procedures. Finding new and better ways to do the jobs, handling the staff, and getting additional money are only some of the creative tasks managers often deal with.

1 Encompass – заключать.
2 On-going function – постоянная функция.
3 Results in staffing needs – явиться результатом заполнения штата сотрудниками.
         12. Найдите в тексте следующие слова и выражения и переведите на английский язык.

Организационные цели, усилия, передовая технология, творческая функция, мониторинг достижения цели, выполнение, соответствие, вносить вклад, влиять, гарантировать, служащий, работодатель, учреждение, умение, управление бизнесом.
13. Учимся читать и переводить выдержки из газетных статей. 
In Germany Mrs Merkel’s Christian Democratic Union and its center-right partners lost power in Lower Saxony, after the opposition Social Democrats and Greens narrowly won an election in the state (by just one seat). A general election in Germany is due in September.

Mexico’s Supreme Court ordered the release of Florence Cassez, a French woman jailed in 2006 for allegedly belonging to a kidnapping gang, on the ground that the authorities had violated her legal rights during her arrest. The ruling, reversing a decision issued last year, should improve the country’s difficult relation with France.

A fiber-optic cable connecting Cuba to the Internet seemed to have been activated at last. Construction was completed in 2011. Although the government has not publicly commented, some connections on the island are now operating much faster than the maximum speed provided by satellite hookups.

Greece brought criminal charges against Andreas Georgiou, the head of Elstat, the independent statistical agency, and two officials who were responsible for assessing the country’s debt pile. The charges come after a 15-month investigation into allegations, made by a statistics professor who was sacked from Elstat’s board, that Mr. Georgiou’s team inflated the size of the 2009 deficit. The figure was taken into account when working out Greece’s bail-out package.
Unit 3. Price elasticity of demand and supply
1. Словарный минимум.

1) output – продукция, объем производства
2) revenue – доход
3) marginal revenue – маржинальный, предельный доход
4) costs – издержки, затраты
5) marginal costs – маржинальные, предельные доходы
6) opportunity costs – альтернативные издержки
7) earn – зарабатывать
8) expenses – расходы
9) commodity – товар, продукт, предмет потребления
10) owner – владелец
11) offer – предлагать
12) overall – общий, всеобъемлющий
13) price elasticity – ценовая эластичность
2. Переведите предложения на русский язык и выпишите все экономические термины.

1. A free market is a market in which buyers and sellers are free of intervention and control.
2. The aim of macroeconomics is to examine and explain economic facts for the total nation such as the total money supply, production, consumption, etc.

3. Profit is the revenue from selling the output minus the costs of inputs used.

4. A business needs some financial capital to start the business before the corresponding revenue is earned.

5. For each level of output, the marginal costs are lower as the input price decreases.

6. A change in the price of input, price of alternative output, technological factors, and the number of firms will result in a market supply change.

7. The syndicate controls prices and output and, allotting quotas to its members, it divides the market among them.

8. Boom is a period of increased business activity when a rising demand for all commodities results in increased industrial production.

9. If free migration between countries is allowed, people from poor countries will be able to go elsewhere looking for higher incomes.
10. People working in their own businesses should calculate the cost of their own time spent in running the business.

3. Прочитайте, переведите текст и замените выделенные части предложений причастными оборотами.
Opportunity cost is a cost fundamental concept of economics. Opportunity cost is the economic cost of using scarce resources in terms of the alternatives elsewhere. This concept is of value for all economic choices. In every choice the person has to take one action rather than others. For each choice, the person compares the benefits and costs of each alternative and tries to get the maximum benefits. 
Benefits are usually clearly seen. The person can feel satisfaction because he buys a car, a meal, a concert, or even a year at a college. But costs are more difficult to see. The true economic cost – the opportunity costs – may be not the same as the simple expression in money terms because there are other real costs.
The other real costs are often hidden, or indirect. They include things, material and immaterial, the person cannot get because he gets something else. For example, with just two days before exams, you can only study economics and raise your course grade from B to A, or only chemistry and raise that grade from C to A. The opportunity cost of an A in chemistry is getting a B in economics rather than an A.
Your parents bought a house for 20,000 $ some years ago. They can sell it for 45,000 $ now. The cost of their staying in the house now is 20,000 $. The opportunity cost is 45,000 $. Your parents stay in the house and do not get 45,000 $.
4. Переведите предложения на английский язык.

1. Рыночный спрос – это общий спрос на товар в обществе.
2. Не все партнеры в деле должны принимать активное участие в управлении фирмой.

3. Нелегко рассчитать доход, издержки и прибыли для большого предприятия.

4. Фермер – это человек, который владеет и управляет сельскохозяйственным предприятием.

5. Когда цена поднимается выше предельных издержек, каждый производитель хочет производить больше.

6. Даже при нулевой выработке фирма должна оплачивать некоторые расходы.

7. Издержки должны включать альтернативные издержки всех ресурсов, используемых в производстве.

8. Каждый потребитель должен решить проблему выбора.

9. При равновесной цене предложение равно спросу.

10. Цены ниже равновесной приводят к дефициту.

11. На свободном рынке изменения цены зависят от изменения спроса и предложения.

12. Концепция предельной полезности очень важна для решения некоторых проблем спроса.

5. Прочитайте текст “Price elasticity of demand and supply” и переведите его без словаря. Выпишите интернациональные слова, имеющие похожую форму и значение в английском и русском языках. 
Price elasticity of demand and supply

There is a relationship between demand and price. How much demand for a commodity is affected by a change in price is called elasticity of demand. If a small change of price results in a large change in demand, the demand is called elastic, if the demand changes a little, it is called inelastic. The price elasticity of demand coefficient is negative as demand usually falls with a rise in price. The price elasticity of supply shows the percentage change in the quantity supplied resulting from a one-percent change in price.

As an increase in the quantity supplied is normally a result of a rise in price, the coefficient is usually positive. We have f “0” (zero) elasticity when a price change results in no quantity supplied change. This is called a perfectly inelastic supply. Provided the elasticity vary between zero and one, the supply is called inelastic. With coefficients greater than one, the supply is called elastic. The percentage change in quantity is larger than the corresponding percentage change in price.
Agricultural supply is mostly inelastic because of the high proportion of such inputs as land, buildings, and machinery. The elasticity of agricultural commodities (potatoes, wheat, fruits, eggs, milk) vary greatly. Because of increasing specialization of production of farm animal products, in particular, elasticity for such commodities as pigs or broilers have decreased in recent years.

6. Ответьте на вопросы к тексту.
1. Which demand is called elastic?

2. Why is the price elasticity of demand coefficient negative and the corresponding coefficient for supply positive?

3. What supply is called inelastic?
4. What is the difference between the inelastic and the perfectly inelastic supply?

5. Why is agricultural supply usually inelastic?

6. What is the tendency of agricultural supply development?

7. Прочитайте и переведите текст “Theory of  Demand”, найдите в тексте глаголы, выражающие долженствование.
Consumer demand is the quantities of a particular good that an individual consumer wants and is able to buy as the price varies, if all other factors influencing demand are constant. Consumer demand is the relationship between the quantity demanded for the good and its price. The factors assumed constant are prices of other goods, income, and a number of noneconomic factors, such as social, physiological, demographic characteristics of the consumer. 

The theory of demand is based on the assumption that the consumer having budget constraint seeks to reach the maximum possible level of utility, that is, to maximize utility, but he usually prefers to obtain more rather than less. The consumer has to solve the problem of choice. Provided he is to maintain a given level of utility, increases in the quality of one good must be followed by reductions in the quantity of the good. The consumer has to choose the specific goods within the limits imposed by his budget.
The concept of marginal utility is of great importance for solving the utility maximization problem. The marginal utility of a good is the additional utility obtained from consuming an additional unit of a good. The marginal utility from consuming a good decreases as more of that good is consumed. The income should be allocated among all possible choices so that the marginal utility per dollar of expenditure on each good is equal to the marginal utility per dollar of expenditure on every other good. 
A price increase will result in a reduction in the quantity demanded. This relationship between the quantity demanded of a good and its price is called the law of demand. As the marginal utility from each additional unit of a consumed good decreases, the consumer will want to buy more of this good only if its price is reduced.

Market demand is the quantities of a good that all consumers in a particular market want and are able to buy as price varies and as all other factors are assumed constant. Market demand depends not only on the factors affecting individual demands, but also on the number of consumers in the market. The law of demand also works with market demand.
8. Ответьте на вопросы к тексту:

1. What is a consumer demand?

2. What is the principal assumption of the demand theory?

3. How should the consumer allocate his income?

4. In what way is the marginal utility change the consumption of a good?

5. What is a market demand?

6. In what way does a market demand differ from individual demand?

9. Переведите следующие предложения, обращая внимание на лексику текста “Theory of  Demand”.  
1. The problem of the consumer is to choose the particular goods and services within the limits imposed by his budget.

2. If the consumer wants to maintain a constant maximum utility and at the same time obtain more of a good, he should decide the consumption of which other good has to be reduced.

3. The relationship between utility and the goods consumed depends on the social, physiological, demographic and other characteristics of the particular consumer.

4. Budget constraint means that your expenditures for all the goods consumed must be equal to your income.

5. Economic theory is the part of the study of economics that examines and explained how the economic system is affected by man’s behavior, by nature, markets and governments. 

6. Consumers want to buy a good as long as the ratio between its marginal utility
10. Учимся читать и переводить выдержки из газетных статей.

Rahul Gandhi, a scion of India’s most famous political dynasty, was elevated to the position of vice-president in the ruling Congress party. His mother, Sonia, is the party’s president. Some party leaders have been seeking a more public role for the younger Gandhi, and want him as their candidate for prime minister in next year’s election.

The trial began in Delhi of five of the suspects accused of last month’s rape and murder of a 23-year-old woman, a crime which sparked national protests about the lack of official concern over women’s safety. The five are being tried under a “fast-track” process.

Unit 4. Circular flow of payments and national income
1. Словарный минимум.
1) output – продукция, объем производства

2) revenue – доход

3) marginal revenue – маржинальный, предельный доход

4) costs – издержки, затраты

5) marginal costs – маржинальные, предельные доходы

6) opportunity costs – альтернативные издержки

7) earn – зарабатывать

8) expenses – расходы

9) commodity – товар, продукт, предмет потребления

10) owner – владелец

11) offer – предлагать

12) overall – общий, всеобъемлющий

13) price elasticity – ценовая эластичность

14) fixed capital – основные средства

15) labour force – рабочая сила

16) to vary with – различаться в зависимости

17) availability – наличие

18) durable goods – товары длительного пользования

19) fuel – горючее

20) to meet requirements – удовлетворять потребности

21) wages – зарплата

22) non-renewable resources – не возобновляемые ресурсы

23) to use up – истощать, использовать полностью

24) value – стоимость, ценность
2. Переведите предложения на русский язык, обращая внимание на перевод инфинитива.
1. To run a business is to plan its activities and to determine all operations necessary at each step.

2. To control an economy is the same as to intervene in it.

3. To develop new information technologies is of prime importance for those countries that wish to enter the world economy.

4. To say in the tobacco market is not an easy task for Russian manufacturers.

5. To use food stamps was common practice in many countries in wartime.

6. In order to consume, we need income.

7. In order to earn income, we have to work.

8. Firms and individuals spend their income to consume and to invest.

9. To analyze the labor market, an economist should first explain how people allocate their time to production.

10. To calculate profit-maximizing output and the corresponding quantities of the factors demanded, we have to calculate the total cost for all output levels.

11. The import tariffs were not raised high enough to decrease imports.

12. Statistics depends on too much on limited information resources to avoid compromises.

13. The economic growth is too slow now to expect a rapid increase in demand and supply.
14. In developing countries, labor efficiency is too low in agriculture to hope for an increase in food supply in the near future.

3. Переведите текст со словарем.

Mixed economy

There are three types of management in economies. An economy may be almost totally planned, as it was in the Soviet Union. An economy may be almost totally unplanned, as it is in the USA. Or an economy may be a combination of planning and freedom of operation. Examples of the latter are Japan and South Korea.

In a planned economy the government decides what goods are to be produced and how they are to be marketed. Governments set all the priorities, and the producers are to follow the directions given to them.

In a partially planned economy such as Japan’s, the government often encourages industry and helps it with subsidies. Government also makes investments and regulates trade.

The United States is an example of an unplanned economy. But it has a lot of government intervention in economic activity. As the economy of the United States grew, and as government and its importance increased, the government policy at every level acquired greater importance for the economy.

But the economy of the United States may be called unplanned because the government does not regulate what will be produced and how it will be marketed. These decisions are left to the producers. Even the great amount of government regulation that has emerged since the Great Depression has not turned the economy of the United States into a planned economy. The name of the American economic system is capitalism. Another name for it is the free market economy.  

4. Прочитайте текст и ответьте на вопросы.
Technology and Supply

An improvement in technology will increase the supply as producers will want to supply a larger quantity than before at each price. An improvement in cocoa refining makes it possible to produce more chocolate. So do improvements in packaging techniques. Faster transportation and better refrigeration may lead to less spoiled cocoa beans. Each of these technological advances allows firms to supply more.

Technology must be understood very broadly. It includes all know-how about production methods, not only the state of available machinery. In agriculture, the development of disease-resistant seeds is a technological advance. Improved weather forecasting may lead to better timing of planting and harvesting. A technological advance is an idea that allows more output from the same inputs as before.

1. What is included in technology?

2. What is a technological advance?

3. What technological advances may increase the supply of chocolate?

4. What technological advances in agriculture can you name?

5. Переведите предложения на русский язык, используя  новую лексику.
1. An economic system is the method that society uses to … to satisfy its needs. (распределять ресурсы)
2. The marketplace, in essence the invisible hand which … . (регулирует экономическое поведение)
3. Under capitalism the factors of production are … and economic decisions are made according to … . (в частной собственности, рыночные законы спроса и предложения)
4. In this system economic questions are determined by …  . (рынок потребителей)
5. In pure capitalism consumers demand more of a product as … . (его цена уменьшается)
6. … producers try to supply and sell, as many products as they can. (движимые прибылью).

7. In the marketplace producers and consumers pursue … . (свои собственные интересы)
8. The marketplace is regulated by the … . (взаимодействие покупателей и производителей)
6. Переведите предложения с русского на английский язык.

1. Рынок регулируется взаимодействием покупателей и производителей.

2. Экономическая система-это метод, который общество использует для распределения своих ресурсов.
3. На рынке и производители, и покупатели преследуют свои собственные интересы.

4. Что отличает одну экономическую систему от другой – контроль над факторами производства.

5. При чистом капитализме потребители требуют больше товара по наименьшей цене.

6. При капитализме факторы производства находятся в частной собственности, а экономические решения принимаются в соответствии с рыночными законами спроса и предложения.

7. Смешанный капитализм основывается на рыночной экономике и ограниченном вмешательстве правительства в экономическую жизнь.

8. Вмешательство правительства в отношения между работодателями и наемными работниками поможет создать рабочие места для безработных.

9. При смешанном капитализме у правительства есть два экономических инструмента: право собирать налоги и право их тратить.
10. Деньги, потраченные на социальные услуги, создают дополнительный спрос на товары и услуги, производимые предприятиями.

11. Кто определяет размер заработной платы в нашей стране?

12. Государство обложило налогом продажу напитков.

13. Существует ли в мире справедливая система налогообложения?

14. В сегодняшних условиях правительство должно защищать отрасли национальной промышленности от иностранной конкуренции.

7. Прочитайте и переведите текст, обращая внимание на видо-временную форму глаголов.

Production costs

Production costs are the costs of making factor input into higher value outputs of goods and services. The costs of manufacturing products include costs of raw materials, labor costs, depreciation of  equipment, rent, lighting and heating of factory buildings.
It is important to say that factor inputs can be combined in a variety of ways to produce the same amount of output. One method which is technically the most efficient is the one which uses only small amounts of labor, while another method may employ large quantities of labor and only a little capital. In physical terms, the method which is technically the most efficient is the one that uses the fewest inputs. Economists, however, are more interested in the cost aspect of the input-output relationship, specifically the least costly way of producing a given output.

To achieve the highest efficiency, that is, the optimal relationship between factor inputs and outputs of goods and services, the economist analyzes the relationship between the cost of factor inputs and the cost of output in a firm. In order to determine the cost of producing a particular output it is necessary to know not only the required quantities of various inputs but also their prices. The factor prices a firm must pay in order to buy units of these factors will depend upon the interaction of the forces of demand and supply in factor markets.

8. Переведите предложения на русский язык.

1. Trade union organizations vary with the country. Their activities vary from general protection to specific members’ advantages for some jobs.

2. Unlike machinery or raw materials, workers can think. Machines can neither leave their jobs nor decide how much they would like to work for their owners.

3. Minimum wages may paradoxically result in youth unemployment because firms do not want to employ young workers.

4. In terms of percentage of employment the movement away from agriculture into industry and from industry into services is clearly seen now.

5. The European Union’s economic policies have to be reformed to meet the changing requirements (economic, technical, political) of the new millennium.

6. It is important to reduce capital investments in the production process in order to lower the cost of production.

7. In the poor countries there is too little machinery relative to the size of the population to make labor efficient.
8. To use more fuel-efficient aircrafts is the present-day trend with airlines.

9. Заполните пропуски следующими словами из словарного минимума в соответствующей форме.
Both and, to contribute, to employ, employment, unlike, variety, purpose, machinery, available, various

1. … physical capital, human capital does not belong to the firm that has invested in it.
2. Trade union restrictions do not allow … of youths in some industries and many service sectors.

3. The … of minimum wages is to protect young people from exploitation.
4. Natural resources research in the USA of the 1930s was based on gathering information from a … of sources.

5. The European Union’s statistics are collected … at the union level … at national levels of member countries.

6. There are … forms of money.

7. The marginal product of labor shows how much each additional worker increases total outputs. The marginal product grows as the first few workers are … because it is hard for the first and second worker to handle all the … . By the time the third worker is …, marginal productivity of labor starts falling. When all … machines are fully used, each new worker has less and less to … .
10. Прочитайте и переведите текст, найдите в нем инфинитив в функции определения, подлежащего и обстоятельства.
Circular flow of payments and national income

In every economy there are lots of households to supply labor and capital to firms that use them to produce goods and services. Firms provide incomes for households, who in turn1 use this money to purchase the goods and services produced by firms. This process is called the circular flow of payments2.

The gross domestic product (GDP) is the total money value of all final goods produced in the domestic economy over a one-year period. The GDP can be measured in three ways: (a) the sum of the value added3 in the production within a year, (b) the sum of incomes received from producing the year’s output, (c) the sum to spend on the year’s domestic output of goods and services.
The total money value of all final goods and services in an economy over a one-year period is the GDP, plus property income from abroad (interest, rent, dividends and profits) make the gross national product (GNP). The GNP is an important measure of a country’s economic well-being, while the GNP per head provides a measure of the average standard of living of the country’s people. The goods and services available to particular individuals depend on the income distribution within the economy.

We all recognize that assets wear out in the production process either physically or become obsolete. This process is known as depreciation. There has to be part of the economy’s gross output to replace existing capital, and this part of gross output is not available for consumption, investment, government spending or exports. So we subtract depreciation from the GNP to arrive at national income.

National income measures the amount of money the economy has available for spending on goods and services after setting aside enough money4 to replace resources used up in the production process.
Since output is determined by demand, the aggregate demand or spending plans of households and firms determine the level of the output produced, which in turn makes up the income available to households and firms. Aggregate demand is the amount to be spent by firms and households on goods and services.
Governments also intervene in the circular flow of income and payments. They buy a considerable part of the total output of goods and services in an economy adding their demand to the demand of the private sector. Since government spending is a large component of aggregate demand, and since taxes affect the amount households and companies have for spending, government spending and taxation decisions, which are referred to as5 fiscal policy, have major effects on aggregate demand and output.

1 In turn – в свою очередь.
2 Circular flow of payments – кругооборот платежей; 
circular flow of income – кругооборот дохода. Оба выражения используются параллельно для обозначения процесса движения денег и товаров между отдельными субъектами экономики (юридическими и физическими лицами).

3 Value added – добавленная стоимость; часть стоимости произведенной продукции, которая была внесена данным предприятием. Она определяется как разница между стоимостью продаж и себестоимостью материалов, энергии и т.п. и включает заработную плату, издержки на реализацию и некоторые другие расходы. Суммарная добавленная стоимость всей экономики равна ВВП.

4 After setting aside money – после того, как отложены деньги.
5 Are referred to as – называются.
11. Учимся читать и переводить выдержки из газетных статей (The Economist, January 26th, 2013).
Israel’s incumbent Prime Minister, Binyamin Netanyahu, won a general election. An alliance of his Likud party and Avigdor Lieberman’s equally hawkish Israel Beitenu won 31 out of the parliament’s 120 seat. But a centrist party headed by Yair Lapid, a former talk-show host, stunned the pollsters by coming second with 19 seats, perhaps preventing Mr. Netanyahu from forming a coalition of the hard right alongside religious parties.
French forces, which intervened in Mali on January 11th to stop jihadists advancing south on Bamako, the capital, made further progress, chasing them out of Diabaly and other towns that had been overrun. Reinforcements from France and from friendly African countries in the region, led by Nigeria, started to arrive.

Algerian security forces ended a four-day assault by 30-odd Islamist terrorists on the In Amenas gas plant in the country’s south-east, killing all but the Algerian counter-attack also left at least 37 foreign workers from America, Britain, France, Japan and Norway, among other places, dead.
A hooded assailant flunt acid in the face of Serge Filin, the director of Russia’s Bolshoi Ballet. It is believed that the incident is linked to bitter internal fights. Doctors were unsure about the extent of the damage t Mr Filin’s vision and face, but said he would not lose his sight.

The Saudi-Arabian King Faisal can make for an easy target. Stubborn and jealousy anti-Semitic, the Saudi ruler long suspected an unholy alliance between Zionism and communism. When a Soviet diplomat asked him why he shunned relations with the Soviet Union, Faisal replied tartly: “Go to Moscow and tell them to recognize God, and tomorrow I shall open an Embassy in Moscow”. But Faisal was also a shrewd and cautious monarch. In a country where corruption was epidemic, he lived modestly. During his rule he stuck a skilful balance between modernization and the conservatism of a tribal and deeply religious society…
Unit 5. Challenges of globalization
1. Словарный минимум .
1) Gross Domestic Product (GDP) – валовой внутренний продукт (ВВП – денежная стоимость всех товаров и услуг, произведенных за определенный период)

2) gross – валовой, совокупный
3) domestic – отечественный, внутренний
4) final goods – готовые товары
5) property – собственность
6) Gross National Product (GNP) – валовой национальный продукт (ВНП – ВВП плюс проценты, прибыли и дивиденды, полученные из-за рубежа)

7) average – средний
8) distribution – распределение
9) depreciation – износ, амортизация, снижение стоимости, обесценивание
10) aggregate demand – совокупный спрос
11) fiscal policy – налоговая, бюджетная политика
2. Переведите предложения на русский язык, обращая внимание на функцию инфинитива.
1. When each unit of capital input costs $ 300 per week, the cheapest way to produce 100 units of output is to use labor-intensive technology.

2. The value of total output to be produced in the public sector and the private sector will make up the gross national product.

3. We know the quantity of capital inputs to affect the total output. 

4. Competing suppliers may maintain their prices at a low level to attract customers from a higher-price firm.

5. Imports may be raw materials for domestic production or the goods to be consumed directly by households, such as a Japanese television set or a bottle of French wine.

6. There may be a number of ways to solve the problem of scarce information resources.

7. In the 1980s, there continued a rise in the GDP per person in all groups of countries.

8. Stabilization policy is government actions to control the level of output in order to keep the GDP close to its full-employment level.
9. Governments regulate the level of aggregate demand in order to maintain full employment and stimulate economic growth.
10. As taxes affect levels of prices for various groups of goods, they influence the way to allocate resources in the economy.
11. To calculate depreciation is necessary in order to know the value of the assets of an enterprise.
3. Выберите подходящее по смыслу слово из предлагаемых в скобках вариантов.
1. The control of the Parliament over the Central Bank’s policies is currently very weak in Russia, which is in line with the (permanent/temporary) tradition in most countries.

2. (Easy/tight) monetary policy can lead to a large decrease in output and jobs.

3. The way of adapting the European Union’s statistical system to demands of the 21st century is of great importance both inside and (outside/in addition) the European Union.

4. (Hence/In addition to) being a means of exchange, money is also used to measure the value of men’s labour.
5. When adopting a certain (fiscal/monetary) policy, the central Bank has to choose between reducing unemployment, on the one hand, and reducing inflation, on the other. The decision often depends on political rather than economic conditions.

6. The Federal Reserve System of the USA influences interest rates set by the banks operating both within and (except/outside) the System. 

7. To reduce the (budget deficit/monetary policy) by $ 1 billion it is necessary to cut government spending by $ 1 billion.
8. Affecting all banks at the same time, reserve requirement changes are believed to be a very powerful tool of (pursuing/ altering) the whole of monetary policy. 

4. Заполните пропуски в предложениях следующими словами и словосочетаниями в соответствующей форме.
Interest rate, within, to alter, tight, outside (2), money supply, ratio (2), thus, in addition, because of, responsibility (2).

1. … regulation of the Central Bank is considered to prevent sudden increases in … .

2. Changes in the …. on government securities often affect industrial share prices. 
3. A gold card is a credit card that gives its holder access to various benefits …. Those offered to standard card holders.

4. Being the only manager and worker at the same time, the owner of a one-person firm takes all the … for performance of his business.

5. Most food can be produced … the household …, some part of the required food can be exchanged for other food and services … the household … money …, these transactions remain …. statistics.

6. The Central Bank has … for the government’s monetary policy.

5. Переведите предложения на русский язык.

1. In 1980, Professor Milton Friedman criticized the attempt of the Bank of England to control money supply indirectly through income, interest rates and money demand.
2. Investment is to rise during a depression even if interest rate falls. Keynes argued that there was no assurance that savings would accumulate during a depression and thus depress interest rate, since savings depended on income and incomes were low because of high employment characteristic of a depression.

3. Keynesians believed that changes in money supply affected aggregate demand through their effects on interest rate. High interest rates reduce investment, which eventually reduces nation wealth. Low interest rates increase investment thus increasing national wealth. Because of the importance of these ratios, Keynesians considered a monetary policy tight or easy depending on current interest rates. 

4. High interest rates were interpreted as indicators of an easy monetary policy, whereas low interest rates were said to be indicators of an east monetary policy.

5. The Russian Parliament would like to impose a tight control of the monetary policy currently adopted and implemented by the Central Bank of Russia.
6. The research has shown that is normally takes the Federal Reserve System about 14 months to detect a slowdown in economic activity, to alter its monetary policy and thus to affect a real GDP.

6. Замените выделенные курсивом русские слова в скобках их английскими эквивалентами.
1. The government increased the (денежную массу в обращении) to maintain aggregate demand at full employment level.

2. The Bank of England (отвечает за) issuing new bonds to replace the old ones.

3. Money consists mainly of two things: currency (с одной стороны) and checking accounts).

4. Having raised the (соотношение процента резерва), the Central Bank made commercial banks reduce their lending to build up reserves.

5. The European Parliament officer demanded (более жесткие) rules of distributing contracts in the future.

6. (Мягкая кредитно-денежная политика) is believed to result in more rapid inflation, while (жесткая кредитно-денежная политика) helps (изменить) an economy into the one having slower inflation.
7. High (процентные ставки) in an economy may be expected to lower aggregate investment.

7. Образуйте синонимические и антонимические пары.

Long-term, to change, to borrow, to lend out, in addition, mostly, within, hence, thus, in this way, to result in, outside, the latter, easy, permanent, to implement, constant, besides, tight, to alter, temporary, mainly, to result from, therefore, the former, to pursue, to give rise to.

8. Прочитайте и переведите текст.

CHALLENGES OF GLOBALIZATION

After many decades of economic growing the global economic recession came as a big surprise and had as a result a number of changes in the economic policy that were applied in the Great Economic Crisis, that is, the changes defined as the counter-cyclic economic policy. The dominant opinion of macroeconomists according to which the neo-liberal concept has faced a collapse, is now seen as too early stated and even wrong. Regardless of the dominant macroeconomic theory on which the economic policy relies, there are two different lines of research: neoclassical and Keynesian. The development of macroeconomic so far has been a product of a dynamic interactive process between external causes and internal sources. And when the issue in which one of the two programs is more dominant, a number of factors are to be considered: such as economic, social and political. 
The aim of a decade-long development of the macroeconomic theory based on macroeconomic bases and economic policies has been the macroeconomic stability-price stability and it depends on rational expectations of economic factors as well as on the influence caused by the economic policy on the real economic activity which is not possible either in long-term or in short-term period. The development of macroeconomics and the new ways of doing things in this spheres in the last decades has led to the development of political macroeconomics which deals with how politically motivated decisions influence or even abuse the economic policy. The aim is to make such behavior impossible. Macroeconomics has developed an idea which is related to the following: which institutions are influential in the macroeconomic policy and which are not. 
Such a development of macroeconomics based on the market and the institutional development with the aim of preventing any kind of abuse of the economic policy and state intervention has been encouraged by real economic trends. These trends show that today’s cyclic fluctuations are not so intensive or lengthy as those from 1980s and particularly those which existed before the Second World War. The data on cyclic trends in the developed countries speak in favour of the longer expansion phase and the shorter contraction phase. In the USA, the expansion phase is now 57 months while it lasted 25 months before the Second World War; the contraction phase is now 10, although it was 23 months before the War. The longer expansion phase and the shorter contraction phase are even more obvious if we look at the last two business cycles in the USA-from November 1982 to March 1991, and from March 1991 to November 2001. The expansion phase lasted 120 months in the USA; while the contraction phase was only 8 months. The almighty global market and its mechanisms have led many countries to adopt the principles of the market economy. Yet another proof of superiority was precisely the triumph of capitalism over the centralistic system which existed in the state-controlled markets.
These were the circumstances in which the global economic crisis took place. It started with the negative economic trends in the USA in 2007. The first indicators of a possible future recession in the USA made the creators of the economic policy change the way it had been led. The first reaction came from the Federal Reserve that tried to lower the interest rate and thus affect economic activities, but all economic trends showed that the situation had only been worsened. In other words, Keynesian theory was proved – the paradigm referring to the inefficiency of monetary policy by decreasing the interest rate in the struggle against recession. The expansive monetary policy was followed by fiscal expansion seen in several economic programs undertaken by the President of the USA, these programs were aimed at decreasing taxes which on one hand would increase salaries and people would have more money to spend and on the other, new investments in equipment and capacities would be made. These economic measures only had limited results and in the fall of 2008 the USA faced another crisis when it became clear that it was the global crisis of the scope and range that could only be compared to that which happened in the 1930 s.
9. Cоставьте три типа вопросов (общий, специальный и альтернативный) к следующим предложениям.
1. The almighty global market and its mechanisms have led many countries to adopt the principles of the market economy.

2. The expansion phase lasted 120 months in the USA.
3. The expansive monetary policy was followed by fiscal expansion seen in several economic programs undertaken by the President of the USA.

4. The dominant opinion of macroeconomists according to which the neo-liberal concept has faced a collapse.

5. Аll economic trends showed that the situation had only been worsened.

6. These trends show that today’s cyclic fluctuations are not so intensive.

7. There are two different lines of research: neoclassical and Keynesian.
10. Переведите предложения с русского на английский, обращая внимание на слова из лексического минимума.
1. После многих десятилетий экономического роста мировой кризис стал результатом ряда изменений в экономической политике.

2. Все страны ощутили влияние экономического кризиса: характерные фазы, негативные эффекты, такие как замедление экономического развития, высокая инфляция и высокий уровень безработицы.

3. Создатели экономической политики должны решать, как преодолевать кризис.

4. Макроэкономическая теория, известная как Кейнсианская экономика, которая была создана во время Великой Депрессии, основывалась на идеях британского экономиста Джона Мэйнарда Кейнса, 
5. Была введена активная политика регулирования совокупного спроса.

11. Учимся читать и переводить выдержки из газетных статей. (The Economist. March 16th, 2013).

The pound fell to its lowest level against the dollar for almost three years, driven down in part by poor figures on British manufacturing output. Sterling is the second-worst-performing currency of any big economy this year (after the yen), sliding by 8 % against the greenback.

Inditex, the world’s biggest fashion retailer, best known for its Zara and Pull & Bear chains, reported a 22 % rise in annual profit, to $ 3 billion. The Spanish company now has more that 6.000 stores in 86 countries.

Meanwhile, researchers at the University of Cambridge published a study that found a person’s private traits can be accurately predicted from monitoring their “Like” preferences on Facebook. For example, liking “The Colbert Report” was a strong predictor of high intelligence and “Harley-Davidson” a strong indicator of low intelligence.

Singapore’s High Court sentenced Alan Shadrake, a 76-year-old British journalist, to six weeks in jail for having impugned the impartiality of the city-state’s judiciary in a book he wrote about its use of the death penalty. Mr. Shadrake, who was also fined $ 20000 had refused to apologize.

President Nicolas Sarkozy reshuffled the French government. Breaking with tradition and surprising some observers, he did not sack Francois Fillon, the prime minister, who is popular with both the ruling UMP party and French citizens. But Bernard Kouchner, the left-leaning foreign minister, was given the boot.
Unit 6. Inflation
1. Словарный минимум.

1) inflationary rate – инфляционная спираль
2) cause – явиться причиной
3) incomes policy – политика доходов
4) argue – оспаривать
5) adjustment – регулирование
6) cope with – справиться с чем-либо
7) wholesale trade – оптовая торговля
8) retail trade – розничная торговля
9) participate – участвовать
10) comparative advantage – сравнительное преимущество
11) competitive – конкурентоспособный
12) to compete in – конкурировать
13) customer – потребитель
14) acceptance – принятие

15) diverse – разнообразный

16) promote – способствовать

2. Переведите на русский язык следующие предложения и выделите предложения с союзом whether.

1. As this concept has not yet been tried out in practice, it is hard to say whether it will be more successful than earlier approaches (подход) to incomes policy.
2. It is difficult for people to decide whether a decrease in their real wages was caused by risen prices or by inflation.

3. Monetary policy affects prices, the aggregate level of output and employment adjusting correspondingly.
4. Whether incomes policy speeds decreasing inflation rate, remains an open question.

5. Interest rates can affect aggregate demand, equilibrium level of output and employment being independent of it.
6. The costs of inflation depend on whether governments impose any regulations allowing people to adjust fully to inflation.

7. If profits are negative, the firm must see whether losses can be reduced by not producing at all.

8. Profit maximization is achieved by means of minimization of costs.
9. Some economists believe incomes policy to be a good temporary means of keeping inflation under control.

10. Bank accounts are money because people can pay for purchases by means of cheques.

3. Замените данные в скобках русские слова и словосочетания их английскими эквивалентами.

1. The economists discussed several reasons why past (политика доходов) had been unsuccessful.
2. State planning and central control of the economy often (означать) that the state has monopoly of important goods and services.

3. Until prices and wages (приспосабливаться) to the new (жесткой монетаристской политике), real aggregate demand will fall. 
4. There are different policies aimed at (ускорение) of the process of (регулирование) of prices and wages.

5. (Инфляционная спираль) is a situation when inflation gets worse and worse, because higher prices result in demands for higher wages and higher wages increase costs and so ( вызывают) higher prices.

6. With slow price and wage adjustment, an increase in money supply results in a temporary output rise, but eventually it only causes higher prices.

7. The extent of demand, budget constraints and other factors have been found to account for the particular level of government protection for a certain (товар) over time.

4. Прочитайте и переведите текст.

Inflation

Inflation is a steady rise in the average price and wage level. The rise in wages being high enough to raise costs of production, prices grow further resulting in a higher rate of inflation and in an inflationary spiral. Periods when inflation rates are very large are referred to as hyperinflation. 

The causes of inflation are rather complicated and there is a number of theories explaining them. Monetarists such as Milton Friedman say that inflation is caused by too rapid increase in money supply and the corresponding excess demand for goods. 
Therefore, monetarists consider due government control of money supply to be able to restrict inflation rates. They also believe the high rate of unemployment to be likely to restrain claims for higher wages. People having jobs accept the wages they are being paid, the inflationary spiral being kept under control. This situation also accounts for rather also increase in aggregate demand.
On the other hand, Keynesians, that is, economists following the theory of John M. Keynes, suppose inflation to be due to processes occurring in money circulation. They say that low inflation and unemployment rates can be ensured by adopting a tight incomes policy.

Incomes policies, though, monetarists argue, may temporarily speed up the transition to a lower inflation rate but they are unlikely to succeed in the long run.

The costs of inflation depend on whether it was anticipated and on the extent to which the economy’s institutions allow complete inflation adjustment. The longer inflation continues, the more the economy learns to live with it. Indexation is a means to reduce the costs of some inflation effects. Indexed wages or loans mean that the amount to be paid or repaid will rise with the price level. Indexation has already been introduced in countries that had to live with inflation rates of 30 or 40 percent for years. And the more countries adjust their economies to cope with inflation, the closer they come to hyperinflation. Indexation means that high rates of inflation are much more likely to continue and even to increase. 
5.Ответьте на вопросы к тексту “Inflation”. 

1. What situation is described as an inflationary spiral?
2. By what means can it be kept under control?

3. Which two schools of thought are mentioned in the text?

4. What is the difference between them?

5. What do monetarists think to be effective in restraining inflation rates?

6. Why is aggregate demand low?

7. What do the costs of inflation depend on?

8. By what means can the costs of inflation be reduced?

9. Does indexation help to cope with inflation?

6. В тексте Inflation встречается несколько слов и словосочетаний, эквивалентных русскому глаголу сдерживать. Это – to restrict, to hold back, to restrain, to keep under control. Переведите каждое из приведенных ниже предложений, используя все эти выражения.

1. При плановой экономике рост цен сдерживался прямым правительственным регулированием.

2. Инфляцию можно сдерживать при помощи жесткой политики доходов.

3. Некоторые экономисты считают, что жесткая политика доходов не может сдерживать инфляцию продолжительное время. 

4. Задача правительства – сдерживать рост темпов инфляции.

В английском языке русскому глаголу принимать соответствует несколько глаголов, каждый из которых имеет свои особенности значения и употребления. Наиболее общее значение имеет глагол to receive. Глагол to accept означает принимать с готовностью, с желанием, например: to accept a wage rise/an invitation. Глагол to adopt употребляется по отношению к таким решениям, вслед за которыми последует изменение привычного образа действия, сложившейся ситуации, например: to adopt a new policy\ an advanced technology/a plan.
Употребите эти глаголы в следующих предложениях:
1. The business community except the recently formed government to … a new fiscal policy.
2. An individual firm has to … prices existing in the market.

3. It is argued that the Russian Federation has not … a clear program of land reform so far.
4. The manufacturers … the new tax rates with satisfaction. 

5. Although the economic study had been done at the request of the government, the latter did not … the recommendations the economists arrived at. 

6. The Vice President was excepted to … additional responsibilities.
7. Households are known to … incomes in the forms of wages, interest, rent and social benefits.

8. Immigrants are … mainly in the countries that need either unskilled workers or workers with human capital unavailable domestically.
7. Переведите следующие предложения на русский язык, обращая внимания на слова из словарного минимума к тексту Inflation.

1. With slow price and wage adjustment, an increase in money supply results in a temporary output rise, but eventually it only causes higher prices.

2. Although inflation may not have been anticipated at first, people learn to adjust to it.

3. It is frequently argued that reducing the average level of inflation means reducing risks of making decisions and plans.

4. Governments and think that tight monetary policies aimed at coping with inflation are desirable.
5. Industrial economies have to make severe adjustments to cope with the rising energy scarcity.

6. Indexation means that the wages agreement will remain correct for any anticipated inflation that occurred over the life of the contract.
7. The extent of demand, budget constraints and other factor have been found to account for the particular level of government protection for a certain commodity over time.

8. Almost the only products whose prices do not depend on their cost to any considerable degree are those with fixed supply, such as works of art, and those whose supplies are limited by monopolies, such as oil.

8. Переведите предложения на английский язык.
1. Ускорение денежного обращения вызывает более высокие темпы инфляции.

2. В индустриальных странах доля наличных денег составляет до 4 % денежной массы в обращении.

3. Политика доходов – это попытка прямо повлиять на заработную плату и другие доходы.

4. Когда повышается темп инфляции, процентные ставки растут, а совокупный спрос падает.

5. Экономисты уже определили, что вызывает инфляцию.

6. Правительство может принять жесткую политику, которая должна обеспечить низкий темп инфляции.
7. Постоянное увеличение денежной массы должно вызвать инфляцию.

9. Выберите подходящее по смыслу слово из предлагаемых в скобках вариантов. Переведите предложения на русский язык.

1. In the United Kingdom in the 1970s the Labor government tried to reduce the difference between high-wage jobs and low-wage jobs by (adopting\arguing) an incomes policy that allowed the absolute rather than a percentage increase. $ 6 a week (causes\means) much more to a worker earning $ 40 a week than to a worker earning $ 100 a week. 

2. Pensions and other social payments are raised every year by the rate corresponding to the rate of (any\anticipated) inflation. 
3. Pensions and other social payments are raised every year by the rate corresponding to the rate of (any\anticipated) inflation.

4. The output of new ideas depends to a large (extent\number) on the resources allocated for them.

5. Without (means\indexation), it is costly to live with high inflation rates.

11. Учимся читать и переводить выдержки из газетных статей.
An Iranian nuclear scientist was killed and other injured in Tehran. Both were attacked by men on motorbikes, who stuck bombs on their cars, in incidents similar to one in which an Iranian physicist died earlier this year.

A Somali-born American citizen was arrested in Oregon after trying to detonate a car bomb at a ceremony to light the Christmas tree in Portland’s main square. The “bomb” was actually a dud planted by FBI agents following a six-month investigation.
Despite widespread irregularities, including the trashing of some polling stations, international observers gave a cautious endorsement to Haiti’s general election. A dozen opposition candidates cried fraud and called for the election to be invalidated, but the two presumed front-runners later changed their mind.
Officials from 190 countries gathered in Cancun in Mexico from the start of UN-sponsored talks on climate change. Expectations of any agreement are low. Separately, Brazil reported that deforestation in the Amazon fell to its lowest recorded level in the year to July. Even so, 6,500 sq km of forest were lost.

Wikileaks embarrassed several Arab leaders. King Abdullah of Saudi Arabia was said to have encouraged the United States to attack Iran’s nuclear facilities and “cut off the snake’s head”. Lebanon’s prime minister, Saad Hariri, was visiting Iran when it was claimed that he too had urged America to attack it. Leading figures in Quatar and Bahrein, who are loth to denigrade Iran in public, expressed intense hostility in private.
Unit 7. Taxes and public spending
1. Словарный минимум.

1) to reduce the tax burden- снизить налоговое бремя
2) direct tax – прямой налог
3) indirect tax – косвенный налог (налог на товары и услуги, а не на частное лицо или компанию)
4) levy – облагать налогом
5) sales tax – налог с оборота, налог на продажи (производители платят его, когда изделия считаются законченным товаром, оптовики – при продаже товара розничному продавцу, розничные продавцы – при продаже товара покупателям)
6) value added tax (VAT) налог на добавленную стоимость (НДС)
7) transfer payment – переводной платеж (произведенный платеж, который не связан с оплатой товаров и услуг, например, пенсии, пособия по безработице, субсидии фермерам и т. д.)
8) unemployment benefit – пособие по безработице
9) tax revenue – доходы от налогов 
10) tax rate – ставка налога (налог, взимаемый на единицу облагаемой налогом суммы, выражаемый в процентном соотношении, например, налог $ 5 на сумму в $ 100 значит, что ставка налога составляет 5 %)
11) purchasing power – покупательская способность (стоимость денег, измеряемая в соответствии с количеством товара, который можно на них приобрести)
2. Переведите предложения на русский язык, обращая внимание на конструкцию «сложное подлежащее».

1. The budget deficit is known to be the excess of government expenditure over government revenue.

2. Markets are said to bring together buyers and sellers of goods and services.

3. The massive influx of women into the labor force is sometimes assumed to result in unemployment.

4. Alcohol and tobacco are usually believed to be products with a very inelastic demand.

5. An increase in the wage rate is expected to reduce the quantity of labor demanded.

6. A subsidy is known to be money or other resources provided by the government to support a business activity or a person.
7. Demand for imports is expected to rise when domestic income and output rise.

3. Переведите предложения на русский язык, обращая внимание на модальный глагол should, имеющий значение долженствования.

1. Taxation should be arranged in such a way, as to make the rich pay more than the poor.

2. People have different ideas as to how taxpayers’ money should be used.

3. There are different views as to the way taxes should be collected.

4. If children are to become responsible members of society they should be taught to handle money.

5. The percentage of the tax should grow with the taxpayer’s income.

6. People with large families should pay less taxes than those having no children to support. 

7. Should everyone pay the same tax, whether he is rich or poor?

8. The welfare of the people should depend on whether taxes are distributed fairly. 
9. Children should have equal opportunities to get an education, whether they come from rich or poor families. 

4. Переведите предложения с русского на английский язык, используя лексику данного урока.

1. Я не знаю, облагается ли этот товар пошлиной.

2. Налог на ввозимые товары защищает местную промышленность.

3. При помощи налогов государство получает деньги на здравоохранение, армию и другие расходы.

4. Существуют разные взгляды на то, как надо распределять налоги.

5. Сумма налога должна зависеть от дохода налогоплательщика

6. Почти в каждом государстве существуют как прямые, так и косвенные налоги.

5. Прочитайте и переведите текст.

TAXATION
Everyone knows that taxation is necessary in a modern state: without it, it would not be possible to pay the soldiers and policemen who protect us: nor the workers in government offices who look after our health, our food, our water, and all things that we cannot do for ourselves, nor also the ministers and members of parliament who govern the country for us. By means of taxation we pay for things’ that we need just as much as we need somewhere to live and something to eat.
In most countries, a direct tax on persons, which is called income tax exists. It is arranged in such a way, that the poorest people pay nothing, and the percentage of tax grows greater as the taxpayer’s income grows. But countries with direct taxation always have indirect taxation, too. Many things imported into the country have to pay taxes or “duties”. Of course, it is the men and women who buy these imported things in the shops who really have pay the duties, in the form of higher prices. In some countries, too, there is a tax on things sold in the shops. If the most necessary things are taxed, a lot of money is collected, but the poor people suffer most. If necessary things like jewels and fur coats are taxed, less money is obtained, but the tax is fairer, as the rich pay it. Probably this last kind of indirect tax, together with a direct tax on incomes which is low for the poor and high for the rich, is the best arrangement.

6. Переведите предложения на русский язык.

1. High unemployment rate in Europe is assumed to result from high unemployment benefits.

2. The private sector is normally considered to use resources more productively than the government.

3. Social security payments and unemployment benefits are known as transfer payments.

4. It is known that taxes raised at the national level, such as income tax or VAT, are usually supplemented by local taxes.

5. More people have been found to choose to stay unemployed in countries with very high tax rates.

6. Chemical and steel workers know their earnings to increase more than those in textile and trade sectors.

7. The UK government is known to take nearly 40 percent of national income in taxes.
8. Macroeconomics is concerned with demand for goods by households or the total spending on machinery and buildings by firms.

7. Выберите подходящее по смыслу слово из предлагаемых в скобках вариантов.

1. Public spending has to be financed (nearly\mostly) through taxation and government (borrowing\share).

2. Over the last 100 years wages have increased five to fifteen times, (whereas\still) working time has been cut by nearly half.

3. Because unemployment often results in personal trauma, (unemployment benefits\retirement pensions) are said to be needed for psychological reasons.

4. Natural resources research in the USA in the 1930s was (nearly\initially) based on collecting information from various sources.
5. Due to a more (productive\required) capital and more know-how, wages in West Germany in the early 1980s were about three times as much as (those\that) in the East. (Whereas\as a result), many East Germans moved to the West.

6. Productive processes are (mostly\still) prohibited because they are dangerous to workers or to the environment.

7. Long-term unemployed workers, who gradually lose their human capital and contact with the active labor force, (mainly\eventually) become unable to fill any vacancy.

8. The (social security funds\reasons) for which people may leave labor force as follows: retirement, illness, return to school, child care, work in a home garden, etc.

9. (Initially\eventually) minimum wages were introduced (productively\mainly) to protect young people from exploitation.

8. Прочитайте и переведите текст. 
Taxes and public spending

In most economies government revenues come mainly from direct taxes on personal incomes and company profits as well as indirect taxes levied on purchase of goods and services such as value added tax (VAT) and sales tax. Since state provision of retirement pensions is included in government expenditure, pension contributions to state-run social security funds are included in revenue, too. Some small component of government spending is financed through government borrowing. Government spending comprises spending on goods and services and transfer payments. 

Governments mostly pay for public goods, that is, those goods that, even if they are consumed by one person, can still be consumed by other people. Clear air, national defense, health service are examples of public goods. Governments also provide such services as police, fire-fighting and the administration of justice.
A transfer is a payment, usually by the government, for which no corresponding service is provided in return. Examples are social security, retirement pensions, unemployment benefits. In most countries there are campaigns for cutting government spending. The reason for it is that high levels of government spending are believed to exhaust resources that can be used productively in the private sector. Lower incentives to work are also believed to result from social security payments and unemployment benefits.

Whereas spending on goods and services directly exhausts resources that can be used elsewhere, transfer payments do not reduce society’s resources. They transfer purchasing power from one group of consumers, those paying taxes, to another group of consumers, those receiving transfer payments and subsidies.

Another reason for reducing government spending is to make room (создать условия) for tax cuts. Government intervention manifests itself in tax policy which is different in different countries. In the United Kingdom the government takes nearly 40 percent of national income in taxes. Some governments take a larger share, other a smaller share. The most widely used progressive tax structure is the one in which the average tax rate rises with a person’s income level. As a result of progressive tax and transfer system most is taken from the rich and most is given to the poor.
Rising tax rates initially increase tax revenue but eventually result in such large falls in the equilibrium quantity of the taxed commodity or activity that revenue starts to fall again. High tax rates are said to reduce the incentive to work. If half of all we earn goes to the government, we may prefer to work fewer hours a week and spend more time in the garden or watching television. Cuts in tax rates usually reduce the tax burden and the amount of taxes raised but might increase eventual revenue. If governments wish to reduce the tax burden and balance spending and revenue, they are supposed to reduce government spending in order to cut taxes.

9. Переведите предложения на русский язык, используя лексику урока.

1. A tax rate over 45 percent is known to result in a reduction in the taxes raised.

2. If labor supply is inelastic, there will be an increase in wages as a result of improvements in technology.

3. When transfers (e. g. unemployment benefits, disability payments) are added to labor incomes and distributed profits, the result is personal income.
4. Due to the tax reform the taxed income was lowered and an increase in tax revenue resulted though it was not as big as the government had expected it to be.

5. Higher profit resulted from decreased transportation expenses.

6. Transfer payments are the payments for which no direct economic service is provided in return.

7. No workers means no output.

8. No economy relies entirely on command. 

9. Closed economy is an economic abstraction used to analyze a country with no relationship with the rest of the world.

10. Because no two jobs and not two persons are the same, to find a job is not always easy.

10. Прочитайте и переведите текст о типах налогов и составьте вопросы к нему.
Tax is a rate or sum of money assessed on a person or property for the support of the government and commonly levied upon assets or real property (property tax), or income derived from wages, (income tax), or upon the sale or purchase of goods (sales tax).

Ad valorem tax (value added tax) is a tax imposed upon the difference between the cost of an asset to the taxpayer and the present fair market value of such asset, a tax based on a percentage of the value of the property subject to taxation, as opposed to a specific tax, which is a fixed sum applied to all a certain class of articles.

Capital gains tax (UK) is foreign currency bank accounts owned by persons not domiciled only in the UK and situated in the UK for the purposes of capital gains tax.
Estate tax (inheritance tax, transfer tax) is a tax upon the transfer of property, not upon the property itself, estate taxes imposed upon the net value of decedent’s estate. Estate taxes are based upon the power to transmit or the transmission from the dead to the living. The same tax result is accomplished in some jurisdiction through imposition of inheritance taxes which are taxes imposed upon the receipt of the deceased’s property by the beneficiary. Estate taxes and inheritance taxes are both forms of transfer taxes which are taxes levied upon the passing of title to property.

Estimated tax is an income tax paid periodically by a taxpayer on income not subject to withholding taxes, in an amount based upon the taxpayer’s projected liability.

Excise tax is a federal tax imposed upon the purchase of certain items.

Franchise tax is a tax generally imposed by the states upon corporations. Often, the franchise tax is divided into two components: (1) a tax upon the net income of the corporation attributable to activities within the state; and (2) the tax on the net worth of the corporation located in the state.
Income tax is a tax imposed upon income received which is recognized for tax purposes by the taxpayer, reduced by the allowable deduction and credits.

Progressive tax is a tax in which rate increases as the amount subject to tax increases. For example, a progressive tax would be a tax at which on lower income levels the rate of tax was lower the rate of tax on higher income levels.

Property tax generally tax imposed by municipalities upon owners of property within their jurisdiction based upon the value of such property.

Proportional tax is a tax imposed at a fixed and uniform rate in proportion to the property subject to the tax.

Regressive tax is a tax in which rate decreases as the amount to which the tax is applied increases.

Sales tax is a tax generally imposed by state or local government on the sale of certain items that are generally not for resale. In general, the sales tax is at a set rate regardless of the purchase price of the property.

Unified estate and gift tax is a federal tax imposed upon the net value of an estate and on gifts of certain amounts. The transferor is liable for the gift taxes but if the transferor fails to pay the gift tax, the transferee may be held liable for its payment.

Use tax is a tax imposed upon property purchased in one jurisdiction but brought into another jurisdiction. The jurisdiction imposing a “use tax” does so to curtail out-of-state purchases made for the purpose of avoiding sales taxes. The rate of a use tax is generally the same as the rate of a sale tax.
Withholding tax is the amount of income tax withheld from a payment of income. For example, an employer is required to withhold taxes from employee’s salary when the salary is paid to the employee. The amount withheld is a credit against the amount of income taxes that the employee must pay on income earned for the taxable year.

Interest in commercial law, consideration paid for the use of money loaned or forbearance in demanding it when due. Interest is a means of compensation and expresses a formula consisting of the amount charged (a percentage), the amount loaned and the time involved.

Compound interest is an interest paid not only upon the principal sum, but also upon the interest previously paid on that sum. Thus, interest already paid or accrued becomes part of the principal, for purpose of subsequent interest calculations.

Interest rate is the amount of interest paid usually expressed as a percentage of the amount of the underlying debt.

11. Сопоставьте русский перевод с параграфами из задания № 10 и дайте название каждому типу налогов.
… – это процентная ставка или сумма в денежном выражении, которой облагается лицо или собственность для поддержания правительства, взимаемые с активов или недвижимости (налог на собственность) или с заработной платы и т. д. (подоходный налог) или с продажи, а также купли товаров (налог на продажи).

... – банковские счета иностранных валют, находящихся во владении лиц, не проживающих постоянно в Великобритании в целях взимания налога на реализованный прирост капитала.

… – это налог на разницу между стоимостью продукта для налогоплательщика и настоящей обоснованной рыночной ценой этого продукта; налог основывается на процентном соотношении стоимости собственности, подлежащей налогообложению, в отличие от специального налога, представленного установленной суммой в отношении всех изделий определенного класса.
… – это налог на передачу собственности, а не на саму собственность, налогами на наследства облагается чистая стоимость имущества умершего за вычетом обязательств. Налоги на наследства взимается на основании права передавать или на передаче от умершего живущему. Тот же самый результат достигается в некоторых правовых системах путем применения “inheritance taxes”, являющихся налогами, которыми облагается бенифициар (наследник по завещанию)  на получение имущества умершего. “Estate taxes”  и “inheritance taxes” (налогов на передачу собственности), которыми облагается передача права собственности на имущество.
… – это, как правило, подоходные налоги, периодически выплачиваемые налогоплательщиком с доходов, на подпадавших под “withholding taxes” (налогов путем вычетом), определяемых на основании предполагаемой задолженности налогоплательщика.

… – федеральный налог, взимаемый при покупке некоторых видов товаров.

… обычно взимается штатами с корпораций. Часто этот налог включает в себя два компонента: 1) налог на чистую прибыль корпорации, полученную от экономической деятельности в данном штате; 2) налог на чистую стоимость корпорации, расположенной в данном штате.

… – это налог, который взимается с полученного и заявленного дохода налогоплательщика, за вычетом сумм, разрешенных законом, и кредитов.

… – налог, при котором ставка возрастает по мере увеличения суммы, подлежащей налогообложению. Например, прогрессивным подоходным налогом будет считаться такой, в соответствии с которым при более низких уровнях дохода, размер налога будет меньше, чем при более высоких. 

… – это обычно налог, взимаемый муниципальными органами в пределах своих полномочий с владельцев собственности, исходя из стоимости этой собственности. Размер такого налога, как правило, не меняется в зависимости от стоимости собственности.

… – налог, взимаемый по фиксированной и единой ставке, пропорционально собственности, подлежащей налогообложению. 
… – налог, при котором ставка уменьшается по мере того, как объем дохода, подлежащего налогообложению, увеличивается.

… – налоги на продажи, как правило, взимается штатом и местной администрацией на продажу определенных видов товаров, которое обычно не предназначены для перепродажи. В целом налог на продажи устанавливается в определенном размере независимо от покупной цены собственности.

… – федеральный налог, взимаемый с чистой стоимости наследства и дарений определенных размеров. Даритель несет ответственность за выплату налога на дарения, однако если он этого не сделает, то ответственность за выплату налога ложится на получателя.
… – налог на пользование какой-либо вещью – налог, взимаемый с имущества, купленного в сфере действия одной юрисдикции, но проданного в рамках действия другой юрисдикции. Юрисдикция, обязывающая уплату «налога на пользование», делает это в целях ограничения купли вне штата во избежание выплаты налогов на продажу. Ставка налога на пользование обычно не отличается от ставки налога на продажу.

… – это часть подоходного налога, которая удерживается из выплаты дохода. Например, работодатель должен удержать налог из заработной платы работника по ее выплате. Удерживаемая сумма является кредитом против суммы подоходных налогов, которые работник должен выплатить с дохода, заработанного в течение налогового года.

12. Переведите на русский язык следующие слова и словосочетания.
Capital gains tax, value added tax, estate tax, estimated tax, excise tax, income tax, property tax, sales tax, property, rate of tax, liability, assets, taxpayer, market value, liable, transferor, impose, withheld, require, employer, employee, demand, loan, accrue, debts, earn, savings, withdrawal.
13. Учимся читать и переводить выдержки из газетных статей.

Vladimir Putin said Russia might import wheat to keep the domestic price of grain low. Prices have soared partly because of a severe drought in Russia, which was one of the world’s biggest exporters of wheat in 2009. 

The Federal Reserve published details of the amounts that banks and companies obtained through the various emergency programs it introduced during the financial crisis. A surprisingly large amount of assistance went to European banks. The Dodd-Frank financial reform act forced the Fed to disclose the information.
Unit 8. Bookkeeping
1. Словарный минимум.

1) assets – активы, фонды
2) accounts – счета, фондовые операции
3) intangible assets –нематериальные активы
4) stocks – активы, фонды
5) net worth –стоимость имущества за вычетом обязательств
6) equity – капитал компании
7) receipts – счета-фактуры
8) record-keeping – ведение учета
9) ledger – бухгалтерская книга
10) trial balance – предварительный баланс
11) favorable balance – активный баланс
12) cash balance – кассовая наличность
13) adverse balance – пассивный баланс
14) balance in hand –наличность кассы
15) balance of payments – платежный баланс, баланс движения капиталов
16) debit account – запись в левой части счета, показывающая задолженность
17) credit account – запись в правой части, отражающая приход актива
18) credit balance – кредитное сальдо, кредитный баланс, отрицательное сальдо
19) debit balance – дебетовое сальдо, дебетовый баланс, положительное сальдо
20) accuracy – точность, правильность
21) error – ошибка, погрешность
22) posting – проводка, разноска по счетам
23) CHIPS – межбанковская международная телеграфная система платежей «ЧИПС»

2. Переведите следующие предложения, обращая внимание на лексику задания 1.

1. Cash is a popular for many types of payments in the United States because it is readily accepted, convenient and anonymous. Because most of these transactions have a low value, cash transactions account for only 0,4 percent of the total value of all payments.

2. Other than cash, the paper check is the most frequently used means of payment in the United States.

3. Checks are paper instrument, they must be transported physically between payers and payees and payer’s (collecting) and the payee’s (paying) banks. Inherent in this process are delays, which contribute to float or uncollected funds.
4. The use of automated teller machines has used primarily by depository institutions and their corporate customers to make very large time-critical dollar payments.

5. In 1987, 84 million payments with a value of $281 trillion were made via the two large-dollar funds transfer network in the United States-the Fedwire service provided by the Federal Reserve Banks and the Clearing House Interbank Payments System operated by the New York Clearing House Association. 
6. Fedwire is used principally for domestic payments, while over 70 percent of CHIPS payments are dollar-denominated international payments.
7. Fedwire is used for interbank overnight loans, interbank settlement transactions, corporate-to-corporate payments, and settlement of security transactions.

8. In contrast, CHIPS is used to settle foreign exchange transactions and Eurodollar placements.

9. The use of ATMs has grown rapidly since their introduction in 1969. Now they are widespread in the whole world.

10. ATMs are typically installed at depository institutions, supermarkets, convenience stores, shopping centers, airports, and office buildings.

11. Most installed machines are multipurpose machines, offering several of the following services: cash withdrawal, deposit, transfer between accounts, cash advance, direct access to a credit card account, bill payment and balance inquire.

12. Point-of-sale systems result in a direct debit to a consumer’s account for purchases of goods or services and a credit to the merchant’s account.

3. Прочитайте и переведите текст, составьте 5 вопросов к нему.     
Large-dollar funds transfer networks

Fedwire is a sophisticated electronic payment network. It consists of large, multipurpose computers that operate funds transfer application software at each of the 12 Federal Reserve Banks, a packet-switching data-communications network that links the Federal Reserve Banks and 12 local data-communications networks that link depository institutions to the Federal Reserve Banks.

Over 11,000 depository institutions use Fedwire. There are three types of electronic connections used by depository institutions-dedicated leased lines, shared leased lines, and dial-up or switched circuits.

The CHIPS network has 137 participants. CHIPS participants exchange messages over dedicated leased lines that link their computers or minicomputers to the CHIPS central computer.

CHIPS participants send payment instructions to the central CHIPS computer, where the instructions are edited and recorded and then transmitted to the receiving institution. During the day the CHIPS computer maintains running balances of all payment instructions sent and received by each participant. At the close of business, the net value of each participant’s transfers is computed and each participant is advised of its balance. Participants in net debit positions send Fedwires to a special account at the Federal Reserve Bank of New York. When the account is fully funded, CHIPS sends Fedwires to each participant in a net credit position. All CHIPS transfers are considered final payments once all settlement transfers are completed. 
Compared with other cashless payments, Fedwires are unique in that the Federal Reserve treats them as final and irrevocable payments. That is, once the Federal Reserve has delivered an advice of credit to the receiving depository institution, it will not reverse the credit. On the CHIPS network the sender of a CHIPS payment guarantees the payments to the receiving depository institutions. Nevertheless, CHIPS payments are provisional payments until final settlement is effected on the books of Federal Reserve at the close of business.

4. Найдите данные слова и словосочетания в заданиях 2 и 3.

ACH /automated clearing house – АКП/ электронная клиринговая система, АTM /automated teller machine – банкомат, batch-перевод или обработка группы платежных поручений как информационной единицы, bilateral netting-двухсторонний неттинг (соглашение между двумя сторонами о зачете двухсторонних обязательств друг другу, bill of exchange – переводной вексель, book-entry system – система безналичного оборота, cash dispenser – упрощенный тип банкомата, CHIPS-механизм кредитных переводов для крупных сделок, clearing – процесс подтверждения платежных поручений, counterparty – контрагент, credit risk-риск неплатежеспособности, daylight overdraft – операционный кредит (кредит на один операционный день), debit card – дебетовая карточка, debit payment-платежное требование, дебетовый платеж, default – отказ от платежа\поставки, Fedwire – телеграфная система платежей, final transfer – окончательный расчет, gridlock – сбой, gross settlement system – система валовых расчетов, PIN – буквенно-цифровой код на карточке для удостоверения личности, settlement – расчет, queuing – ожидание.

5. Переведите следующие предложения, обращая внимание на лексику урока.
1. Securities in the United States are cleared and settled through one of the three mechanisms (1) physical delivery against payment, (2) depository and clearing corporations, and (3) the Federal Reserve’s national book-entry safekeeping and transfer system.
2. Many money market securities, such as certificates of deposit, bankers’ acceptances, commercial paper, certain mortgage-backed securities, and municipal government securities, are cleared and settled on the basis of physical delivery against payment.
3. Corporate securities (stock and bonds) and eligible municipal government securities are handled through a national clearance and settlement system that comprises three depositories and five clearing corporations.

4. The clearing corporations provide multi-issue trade comparisons and multilateral net settlement of payments. 

5. Payments are primarily made in next-day clearing house funds.

6. Federal government securities (U.S.Treasury and federal agencies) and some international organization securities are cleared and settled through the Federal Reserve’s national electronic book-entry safekeeping and transfer system. 

7. The U.S. Treasury and most federal agencies no longer issue physical domestic securities.

8. The Federal Reserve’s System is unique and is an essential element of the country’s $2 trillion government securities market.

6. Переведите на русский язык следующие предложения с союзом until.
1. The balance sheet cannot be completed until the depreciation of the capital assets is calculated.

2. The production cost of the good is expected to be maintained at the same level until the price for raw materials is changed by the suppliers.

3. The bank won’t make a loan to any company until its experts study thoroughly the company’s balance sheet.

4. Until the partners of the company come to an agreement on interest rates, they cannot run their business properly.

5. A new product is to be sold successfully until a wide advertising campaign is organized professionally.

6. According Adam Smith, a great increase in productivity can’t be achieved until the principle of specialization is introduced in the production process. 

7. The demand for high-quality goods remains low until the consumers’ incomes rise.

8. Until a country’s imports exceed its exports, there is a deficit in the trade balance.

8. Переведите текст Accounting Information и отработайте его чтение.
Accounting Information
Accounting provides informational access to a company’s financial condition for three broad interest groups. First, it gives the company’s management the information to evaluate financial performance over a previous period of time, and to make decisions regarding the future. Second, it informs the general public, and in particular those who are interested in buying its stock, about the financial position of the company. Third, accounting provides reports for the tax and regulatory departments of the government. In general, accounting information can be classified into two main categories: financial accounting and managerial accounting. 
Managerial information deals with cost and profit relationships, efficiency and productivity, planning and control, pricing decisions, capital budgeting. This information provides a wide variety of specialized reports for division managers, department heads, project directors. 

Financial accounting deals with the financial position of a company, mainly assets and liabilities. The statement of cash flows shows the changes in the company’s financial position. Another financial statement disclosing the results of the company’s activities is known as the income and expense statement.

СЛОВАРЬ ЭКОНОМИЧЕСКИХ ТЕРМИНОВ
–А–
АD-AS model – модель совокупного спроса и совокупного предложения – это макроэкономическая модель, которая рассматривает макроэкономическое равновесие при изменяющихся ценах в краткосрочной и долгосрочной перспективе (периоде)

ad valorem tax – налог на стоимость

adjustable peg – такая форма валютного курса, при которой курс национальной валюты привязан к иностранной валюте, но периодически изменяется в соответствии с определенными критериями

adjusted gross income (AGI) – скорректированный валовой доход

adjustment – корректировка, регулировка, согласование

adverse selection – неблагоприятный отбор, выбор от обратного – форма дезорганизации рынка вследствие неполной, недостаточной информации между участниками

age earnings profile – график возраст-доходы, т. е. соотношение между доходами и возрастом.

aggregate – совокупная величина

aggregate demand curve – кривая совокупного спроса

aggregate supply curve – кривая совокупного предложения

allocation of resources – распределение ресурсов

appreciation – подорожание, высокая оценка

appropriability – соответствие условиям ассигнования

asking price - первая цена, называемая продавцом; начальная цена

assessment – оценка имущества (либо чего-то другого) для обложения налогом

аsset-substitution effect – эффект замещения активов
assets – активы

average cost – средние затраты

average revenue – средняя выручка

average tax rate – средняя ставка налога

average hourly earnings – cредняя зарплата за час
–B–
balance of payments – платежный баланс
balance on capital account – сальдо счета операций с капиталом

Balance sheet – отчет (таблица) о финансовом состоянии, например банка или компании. В нем указаны активы, обязательства, собственный капитал компании (банка).

balanced budget – сбалансированный бюджет

beggar-the-neighbor policy – политика, «разоряющая» соседа

bill – вексель

bond – облигация 
boom – бум, рост

borrowing constraint – ограничение заимствований

bracket creep – переход налогоплательщика в новую группу налогообложения, в которой более высокая ставка подоходного налога, по мере повышения доходов в результате инфляции 
bridging credit – кредит на временные нужды, краткосрочный кредит для решения срочной проблемы в недостатке финансов

budget consolidation - бюджетная консолидация - снижение бюджетного дефицита, полученного в результате кризиса через увеличение доходов и сокращение расходов.
budget deficit (surplus) – бюджетный дефицит (излишек)
budget line – статья бюджета

budget outlay – бюджетные расходы

business confidence - доверие в деловой среде

business fixed investment - капитальные вложения бизнеса

–C–
capital – капитал

capital flight – бегство капитала

capital goods – средства производства

carry trade – кэрри–трейд – такая стратегия действий инвесторов, при которой они занимают средства в национальной валюте государства с низкими процентными ставками, и инвестируют их в валюту государства с более высокими процентными ставками.

case law – прецедент, прецедентное право

cash flow – поток наличных денег, ликвидности

cash profit – наличная прибыль

ceiling prices – максимальные цены

Central Bank – Центральный банк

chronic inlation – хроническая инфляция
clean floating – свободно плавающий обменный курс

collateral – залоговое обеспечение

commercial paper – коммерческий вексель

commodity money – товарные деньги
common currency – единая валюта
common stock – обычные акции

comparative advantage – сравнительное преимущество

compensated demand curve – кривая компенсированного спроса – указывает на то, как изменялся бы спрос, если бы потребители воспользовались компенсацией за последствия изменений цены.

compensated labor supply curve – компенсированная кривая предложения труда

compensated saving supply curve – компенсированная кривая предложения сбережений

competition – конкуренция

creditor – кредитор

current account balance – баланс (сальдо) по текущим операциям

–D–
day order – рыночные ордера, которые действуют в течении одного дня до какого-либо времени.

day's spread – дневная разница курсов – разрыв между курсом покупателя и курсом продавца за торговый день

day traiding – открытие и закрытие торговой позиции за один рабочий день

debt finance – финансирование посредством получения займов

debt servicing – обслуживание долга

default – неплатеж, дефолт

deflation – дефляция

delta – дельта – отношение цены опциона к наличной цене финансового инструмента, лежащего в его основе.

deposit – депозит

direct finance – прямое финансирование

discount – дисконт, скидка

1) Разница между ценой эмиссии ценной бумаги и ее текущей рыночной ценой.
2) Разница между наличным и форвардным валютным курсом.

discount rate – учетная ставка, по которой на денежном рынке учитываются векселя.

discontinued hedge – прерванное хеджирование, при котором сделка превращается из страховой в спекулятивную.

disposable income – cвобoдныe cpeдcтвa, располагаемый доход
distributions – распределение дохода.
divergence – дивергенция, расхождение.

diversification – диверсификация

double bottom – двойное дно

double top – двойная вершина
down payment – первый взнос
down trend – нисходящий тренд

down trendline – нисходящая линия тренда

–E–
earning power – доходность

earnings – доходы (прибыль)

earnings before interest and taxes – EBIT – доходы до вычета процентов и налогов

earnings per share – EPS – доход на акцию
earnings retention ratio – коэффициент удержания прибыли (от распределения по акциям)

earnings yield – показатель доходности

economic union – экономический союз

effective annual interest rate – действующая годовая процентная ставка

effective rate – фактическая (действующая) ставка

efficient portfolio – эффективный портфель

embedded option – внутренний опцион

emerging markets – EM – развивающиеся рынки

equityholder – акционер

equity market – рынок акций

equity multiplier – коэффициент собственного капитала

equity options – опционы на акции

eurobond – евро облигация
eurocurrency – евровалюта – евро

eurodollar bonds – евродолларовые облигации или евро облигации, деноминированные в долларах США

excess reserves – избыточные резервы
exchange – биржа
exchangeable Security – ценная бумага, подлежащая обмену

exchange controls – валютный контроль

exchange rate – обменный курс

exchange traded funds (ETF) – биржевые индексные фонды, т. е. такие фонды, паи (акции) которых котируются на бирже.

ETF – это ценная бумага, с которой можно проводить те же операции, что и с обычными акциями на крупнейших мировых рынках.

expiration – истечение срока действия опциона

external market – внешний рынок

extinguish – погашать долг

existing home sales – данные по продажам недвижимости на вторичном рынке

–F–
factory orders – производственные заказы

federal funds rate – процентная ставка по федеральным фондам

financial instrument – финансовые инструменты.

financial markets – финансовые рынки

fiscal year – бюджетный год

fiscal cliff – фискальный (бюджетный) обрыв. Термин, применимый к резкому сокращению бюджетных расходов, которое может привести к непредсказуемым последствиям в экономике.

fixed exchange rate, stable exchange rate – фиксированный обменный курс
fixed–income trading – торговля ценными бумагами с фиксированной доходностью

fixed interest rate – фиксированная процентная ставка

fixed investments – инвестиции в основной капитал

flat – цена находится в узком диапазоне (ни повышается, ни падает)

floating exchange rate – плавающий обменный курс

floating interest rate – плавающая процентная ставка

flow – поток.

food price index – индекс цен на продовольственные товары

food stamps – продовольственные талоны
forbearance – воздержаться от предъявления законного требования. (Например, кредитор пока не требует исполнения со стороны заемщика какие-либо обязательств, допустим, погасить долг). Следует отличать от "deferment" – это отсрочка, данная кредитором, в выполнении со стороны должника каких-либо обязательств по договору.
forecast – прогноз

foreign exchange – обмен зарубежной валюты
forex – форекс, международный валютный рынок

forward deal – форвардный договор

forward guidance – политика обнародования дальнейших действий

forward swap – форвардный своп – договор обмена финансовыми инструментами между двумя сторонами, который должен произойти на заранее оговоренную дату в будущем. Как правило, финансовыми инструментами в таком договоре выступают процентные ставки, валюта или сырье (например, нефть).
fundamental analysis – фундаментальный анализ

Funding for Lending (FLS) – схема финансирования кредитования – программа финансирование кредитования Банка Англии, направлена на кредитование малых предприятий и потребителей

futures – фьючерсы
futures contract – фьючерсный контракт
futures deal – фьючерсная сделка
–G–
gap output (output gap) – экономический термин, введённый МВФ: разрыв между фактическим и потенциальным объёмом производства

gearing – левередж

general cash offer – общая наличная эмиссия

gilts – надежные ценные бумаги

golden parachute – золотой парашют

gold exchange standard – золотовалютный стандарт

gold standard – золотой стандарт

government debt – государственный долг

government bond – государственная облигация

Government National Mortgage Association (Ginnie Mae) – государственная национальная ассоциация ипотечного кредита

government securities – государственные ценные бумаги

growth rates – темпы роста

–H–
head and shoulders – голова и плечи – модель ценового разворота. Формируется на вершинах рынка и состоит из трех отчетливых пиков, причем средний пик («голова») расположен несколько выше двух других («плеч»).

hedge design – модель хеджирования

hedge fund – хедж фонд

hedge ratio – коэффициент хеджирования

hedging – хеджирование

hedging instruments – инструменты хеджирования

housing starts – строительство новых домов; число новых строительств

–I–
income bond – доходная облигация

income stock – доходная акция

industry – отрасль промышленности

inflation – инфляция
inflation risk – инфляционный риск
input prices – цены средств производства

insider – инсайдер

insider trading – инсайдерская торговля – операции с ценными бумагами на основе конфиденциальной информации

insolvent – неплатежеспособный

institutional investors – институциональные инвесторы

intangible asset – нематериальные активы

interest coverage ratio – коэффициент покрытия процентных ставок

interest rate – процентная ставка

intermediate-term – среднесрочный – от нескольких месяцев до нескольких лет

intermediation – посредничество
internal market – внутренний рынок
International Monetary Fund – Международный валютный фонд
International Monetary Market (IMM) – Международный денежный рынок
investment income – доход от капиталовложений

investments – инвестиции (капиталовложения)

investor – инвестор

issue – эмиссия (ценных бумаг)

–K–
key interest rates – ключевые процентные ставки; основные процентные ставки.

key money rate/central rate – ставка центрального банка
–L–
labour force participation rate – доля экономически активного населения; число работающих, безработных и лиц, ищущих работу по отношению к остальному населению

leverage – левередж

liquid – ликвидный

liquidity constraint – ограничение ликвидности

LM curve – кривая, показывающая отношение национального дохода и процентной ставки, при которых спрос на деньги равен их предложению

loan – заем, ссуда, кредит

loan loss reserve – резерв на покрытие потерь по кредитам

loanable funds – заемные средства

long run – долгосрочный

long run break even price – долгосрочная безубыточная цена

long term contracts – контракты, заключенные на длительный срок

–M–
macroeconometric model – макроэконометрическая модель

microeconomics – микроэкономика

margin call – срочное депозитное требование

marginal tax rate – предельная ставка налога

market liquidity – ликвидность рынка

market price – рыночная цена

mis–selling (часто misselling) – нелегитимные продажи, например, банки намеренно идут на обман клиентов
money market (MM) – операции на денежном рынке

money supply – денежная масса

money market fund – инвестиционного фонда денежного рынка – фонд, инвестирующий в долговые облигации, срок погашения который составляет не более одного года. Стоимость первоначальной инвестиции обычно не изменяется, меняется только доходность.

moving average – скользящее среднее

–N–
net foreign assets – чистые иностранные активы

net foreign investment – чистые иностранные инвестиции

nonfarm payrolls – занятость в стране по платежным ведомостям в несельскохозяйственной сфере

national income – национальный доход

national product – национальный продукт

net assets – чистые активы

new home sales – данные о продаже нового жилья

–O–
obligation – облигация – ценная бумага, расписка, закрепляющая обещание должника (дебитора) заплатить заем с процентами

off-balance-sheet activities – забалансовые (внебалансовые) операции (виды деятельности, не затрагивающие балансовые статьи активов или обязательств)

off-balance-sheet asset – забалансовый (внебалансовый) актив (актив, не отражающийся в балансе организации, а учитывающийся на внебалансовом счете. Это активы, находящиеся в оперативном управлении организации (товары, принятые на комиссию, хранение, имущество, взятое в аренду)

off-balance-sheet account – забалансовый (внебалансовый) счет

open market operations – операции на открытом рынке

operating earnings – операционные доходы

opportunity costs – альтернативные издержки
options – соглашение между двумя лицами на поставку определенного актива по конкретной цене в течение какого-либо времени

order – ордер
outflow (inflow) of capital – отток (приток) капитала
output gap – разрыв между фактическим и потенциальным объёмом производства

output prices – цены выпускаемой продукции

outsiders – аутсайдеры

oversold – перепроданность рынка

–P–
par value – номинальная стоимость

payroll jobs – занятость в стране по платежным ведомостям

perfect complements

permanent income – постоянный доход
personal consumption expenditure – личные потребительские расходы
poverty – бедность
poverty line – черта бедности
present value – приведенная стоимость

price – цена

price ceiling – потолок цены
price elasticity of demand – ценовая эластичность спроса
price floor – нижний предел цены

private fixed capital – частный постоянный капитал

private saving – частные сбережения

–Q–
Quantitative easing – количественное смягчение – нетрадиционная монетарная политика, используемая центральными банками для стимулирования национальных экономик

–R–
rally – ралли, оживление рынка, длительное движение цен в одну сторону

range – диапазон

ratios – коэффициент – рассчитываются по данным из отчетности компаний и применяются для анализа ее финансовой деятельности и оценки привлекательности инвестиций в ее акции

rebalancing – изменение баланса – стратегия, при которой изменяется соотношения активов в портфеле, т. е. они подводятся к первоначальным данным

rebound – откат

redemption yield – доход по ценным бумагам при их погашении

resistance level – уровень сопротивления

retail price – розничная цена

retail price index (RPI) – индекс розничных цен
retail sales – розничная торговля
retracement – коррекция
risk-weighted assets – активы банков, которые оценены по уровню риска

risk spread – распределение риска
–S–
saving – сбережения

savings deposits – сберегательные депозиты

seasonally adjusted data – данные с поправкой на сезонные изменения

securities – ценные бумаги

shock – шок

short sale – короткие продажи домов – это такие продажи, при которых предложенная рыночная цена за дом оказывается меньше, чем остаток задолженности по кредиту

short run – краткосрочный период

short run average cost – средние краткосрочные издержки

short run marginal cost – предельные краткосрочные издержки

shortage – дефицит

spot price – это текущая цена, по которой продается реальный товар, ценные бумаги, валюта при условии немедленной поставки в указанное время и в указанном месте

surplus – излишек
surplus (deficit) on current account – излишек (дефицит) счета текущих операций
–T–
target zone – целевая зона

targeting – целевая государственная политика

tax evasion – уклонение от налогов

tax multiplier – налоговый мультипликатор

taxable income – налогооблагаемый доход

taxes – налоги

terms of trade – условия торговли

term premiums – cрочные премии – превышение доходности к погашению по долгосрочным облигациям над доходностью к погашению по краткосрочным облигациям

threshold price – пороговая цена

time deposits – срочные депозиты

Tier 1 Capital – банковский капитал первого порядка (включает в себя собственный капитал, открытые резервы, инструменты, которые не могут быть использованы в погашении долгов; может включать привилегированные акции)

Core tier 1 Capital – базовый капитал (включает уставный капитал, эмиссионный доход, нераспределенную прибыль и резервы, результаты переоценки, участие в базовом капитале зависимых обществ)

Tier 1 Common Capital Ratio – основной капитал банка в сравнении с общими рисковыми активами; показывает финансовую устойчивость банка (исключаются любые привилегированные акции или доли неконтролирующих акционеров)

Tier 1 leverage – леверидж основного капитала

total economic cost – общие экономические издержки

trade balance – торговый баланс

transaction costs – операционные издержки

–U–
unemployment – безработица
unemployment insurance – страхование по безработице

unemployment rate – уровень безработицы

–V–
vacancies – вакансии

value added – добавленная стоимость

venture capital – венчурный капитал

–W–
wait unemployment – ожидаемая безработица

World Bank– Всемирный банк

–Y–
yield – доходность

yield curve – кривая доходности

yield of bond – процентный доход по облигациям

yield spread – спред доходности – это разница доходностями двух различных долговых инструментов, которая вычисляется путем вычитания доходности одного инструмента из доходности другого

ТЕСТЫ
Тест 1
Подберите к существительным (1–10) соответствующие им определения (a–j).
	1) store 
2) quality 
3) business 
4) trade      
5) produce  

6) company  

7) office 
8) customer  

9) employee 
10) work 
	a) how good or bad something is 

b) the buying and selling of goods, services, currencies or securities 

c) commercial activities in general, such as trading, buying and selling, manufacturing, arranging deals

d) food, etc that is grown on a farm and sold 

e) a place where goods are sold to the public 

f) a room or building that belongs to a company with rooms where people can work at desks

g) a business organization that makes or sells goods or services 

h) a person who works for another person or organization in return for wages

i) a person who buys something from a shop

j)  what a person does to earn money


Оформите ваши ответы в таблице

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Тест 2

Подберите к существительным (1–10) соответствующие им опре​деления (a–j).
	1) economy    

2) finance  

3) cost  

4) price  
5) money  
6) broker 
7) exchange 
8) market    

9) employment  
10) income  
	a) the amount of money for which something can be bought or sold 

b) a person or organization that buys and sells, especially shares or insurance

c)  a country’s money supply, trade and industry

d) money received from work done, or from money invested or property owned
e) money as a resource for business and other activities

f) the amount of money paid or charged for goods or services

g) means of payment, especially coins and bank notes

h) giving or receiving something in return for something else

i) the place where people meet for buying and selling

j) regular paid work


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Тест 3

Подберите к существительным (1–10) соответствующие им определения (a–j).
	1) goods
2) transaction
3) commerce
4) employer 
5) account
6) bank  
7) bill 
8) cheque  
9) demand
10) supply             
	a) the act of doing business or carrying out a business deal

b) manufactured items or raw materials that are for sale

c) an organization that holds money, important documents  and other valuables in safe keeping, and lends money at interest

d) a list showing how much you have to pay for services or goods received 

e) the buying and selling of goods and services

f) the desire of consumers to obtain goods and services 

g) a person or company that pays people to work for them 

h) an arrangement between a bank and a customer that allows the customer to pay in and take out money
i) a printed form that you use to pay for something instead of using money

j) the amount of something that is available to use or buy 


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 4

Подберите к профессиям (1–10) соответствующие им определения (a–j).
	1) a marketer
2) a manager
3) an accountant
4) a book – keeper
5) a financier
6) an auditor
7) a salesperson
8) an economist
9) a tax inspector
10) a banker

	a) a person or an organization that promotes and sells products and services in a certain market

b) a student of or an expert in economics

c) a person whose job is to collect taxes
d) a person who is employed to control, organize and direct part or all of a business or organization
e) a person who audits accounts
f) a person whose job is to sell goods
g) a person whose job is recording business transactions
h) a person engaged in financing businesses, etc on a large scale
i) an owner, a director or a manager of a bank

j) a professionally trained person whose job is to keep and check the financial records of an organization or to advise people on income, spending, tax, etc)


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 5

Подберите к профессиям (1–10) соответствующие им определения (a–j). 

	1) a cashier
2) a lawyer
3) an insurer
4) a secretary
5) a scientist
6) a receptionist
7) a solicitor
8) a programmer
9) a creditor
10) a merchant
	a) an employee in an office, usually working for another person, dealing with letters, typing, filing etc and making appointments and arrangements

b) a person whose job is to receive and pay out money in a bank, shop, hotel etc

c) a person who is trained and qualified in legal matters

d) a person who writes programs for a computer

e) someone who works or is trained in science

f) a person undertaking to make payment in case of loss etc
g) a person to whom money is owed
h) a person employed to make appointments for and receive clients at a hotel

i) a lawyer who prepares legal documents, advises clients on legal matters, and speaks for them in the lower courts

j) a wholesale trader, especially one who trades with foreign countries


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 6

Поставьте название профессии (a–j) в соответствие каждому рекламному объявлению (1–10).
	a) accountant 

b) advertising executive

c) assembly person

d) salesperson

e) clerk  
	f) computer operator 

g) chauffeur

h) receptionist  

i) personnel officer 

j) R&D Manager
  


1. You will be in charge of a team of highly creative individuals delivering new quality products and enhancing our existing range.

2. Reporting directly to Managing Director. You will take over financial control for all aspects of daily operation.

3. Successful applicant will be articulate and presentable. Remuneration includes retainer and car allowance plus commission structure.

4. Duties include filling, mailing, reception and other general office work.

5. Needed for night shift. Clean modern factory. Varied work. Good eyesight essential.

6. You will be an essential member of an agency responsible for some of the country’s top accounts. You will be responsible for the administration of local and national promotions.

7. Some experience in the above-mentioned software is essential but training will be given to the successful applicant.

8. Sober habits, clean driving license, able to be on call 7 days per week at times. uniform supplied.

9. You are the first person our clients will meet so you need to be friendly,  stylish and efficient.

10. With particular responsibilities for recruitment and selection. Communication skills and a pragmatic approach to problem solving essential.

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 7

Подберите к прилагательным (1–10) определения, характеризующие бизнесмена (a–j).
	1) hard-working

2) harmonious

3) purposeful

4) prudent

5) self-confident

6) practical

7) intuitive

8) charismatic

9) reliable

10) faithful
	a) concerned with practice and action rather than theory

b) possessing intuition

c) having confidence in oneself, one’s abilities

d) free from disagreement or ill feeling

e) having power to inspire devotion and enthusiasm

f) working with care and energy

g) acting with or showing care and foresight

h) consistently good in quality or performance

i) able to be trusted

j) having or showing determination or will-power


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 8

Подберите к прилагательным (1–10) определения, характеризующие бизнесмена (a–j).
	1) kind
2) generous
3) intelligent
4) cheerful
5) easygoing
6) modest
7) witty
8) enthusiastic
9) professional
10) friendly
	a) having or showing power of learning, understanding and reasoning

b) relaxed in manner; placid and tolerant

c) friendly and thoughtful to others

d) free from meanness or prejudice

e) not vain or boastful

f) causing happiness; pleasant

g) full of clever humour

h) having or showing the skill or qualities of a professional person

i) behaving in a kind and pleasant way

j) feeling or showing a lot of interest and excitement about something


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 9

Подберите к каждому из типов менеджеров (1–10) соответствующее определение (a–j). 

	1) bank manager
2) business  manager
3) product manager
4) production manager
5) general manager
6) Research  manager
7) sales manager
8) personnel manager
9) project manager
10) investment manager

	a) a manager who is in charge of making materials or goods

b) a manager in a company who is responsible for the development and marketing of a particular product

c) someone in charge of a branch of a bank

d) a manager who has a wide range of management skills, rather than one special skill 

e) a manager whose job is to develop new products

f) someone in charge of a company’s selling activities and the people whose job is to sell its products

g) a manager who is in charge of taking care of a company’s employees, organizing recruitment, training

h) a person or organization responsible for a particular piece of work that will create something new or improve a situation

i) someone whose job is to manage investments for a financial institution or its clients

j) a person whose job is to manage and control the financial activities of a company, organization, or part of organization


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 10

Подберите к каждому из типов менеджеров (1–10) соответствующее  определение (a–j). 

	1) account manager
2) assistant manager  
3) branch manager 
4) brand manager   
5) commercial manager 
6) floor  manager    
7) fund manager 
8) line manager   
9) plant manager  
10) portfolio manager   

	a) a manager involved with business activities of a company, especially dealing with customers, rather than with other activities

b) a manager who is directly in charge of producing goods or providing services, and who works closely with ordinary employees

c)  someone who helps another manager, does their most work when they are not there etc

d) a manager who is in charge of a particular factory

e) an investment manager with a group of different  types of investments, who tries to balance the risks and profits of each in relation to the rest

f) someone who deals with a particular client or group of clients, especially in a bank

g) someone whose job is to manage a department or floor in a large store  

h) someone in charge of a particular branch of a  bank, shop in a chain of shops

i) someone in a company responsible for developing  and selling one particular brand or product

j) someone whose job is to manage a particular  type of investment for a financial institution  or its clients


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Test 11

Подберите к существительным (1–15) соответствующие им синонимы (a–o).
	1) purchaser           
2) crisis                   
3) economy             
4) management      
5) finance                
6) production         
7) profession           
8) income                
9) trader                 
10) interest             
11) quality              
12) goods                 
13) money               
14) demand             
15) supply               
	a) difficulty

b) saving

c) commerce

d) buyer

e) administration

f) employment

g) earnings

h) making

i) benefit

j) seller

k) banknotes

l) stock

m) characteristics

n) commodities

o) need


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 12

Подберите к существительным (1–10) соответствующие им антонимы (a–j).
	1) production
2) income
3) proficiency
4) country
5) supply
6) worker
7) growth
8) inflation
9) corruption
10) risk
	a) deflation

b) city

c) lack

d) consumption

e) expenditure

f) honesty

g) incompetence

h) idler

i) decline

j) safety


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 13

Подберите к глаголам (1–10) соответствующие им синонимы (a–j).
	1) to  trade
2) to buy
3) to supply
4) to rent
5) to loan
6) to compete
7) to create
8) to produce
9) to consume
10) to own
	a) to hire

b) to lend

c) to exchange

d) to  use

e) to have

f) to purchase

g) to provide

h) to make

i) to manufacture

j) to challenge


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 14

Подберите к глаголам (1–10) соответствующие им антонимы (a–j).
	1) to buy
2) to fix
3) to rise
4) to supply
5) to lend
6) to save
7) to work
8) to wholesale
9) to benefit
10) to reserve
	a) to use up

b) to harm

c) to lack

d) to low

e) to sell

f) to borrow

g) to change

h) to spend

i) to rest

j) to retail


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 15
Подберите к прилагательным (1–10) соответствующие им синонимы (a–j).
	1) busy
2) wide
3) expensive
4) cheap
5) available
6) private
7) modern
8) successful
9) local
10) internal
	a) own

b) regional

c) cut-price

d) active

e) broad

f) costly

g) obtainable

h) innovative

i) well-doing

j) domestic


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 16
Подберите к прилагательным (1–10) соответствующие им антонимы (a–j).
	1) private           
2) busy               
3) expensive       
4) high                
5) vacant            
6) valuable         
7) safe                 
8) rigid               
9) personal         
10) opposite       
	a) low 

b) same

c) public 

d) cheap   

e) lazy

f) occupied    

g) flexible   

h) risky    

i) useless 

j) public


Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 17

Вставьте в пропуск каждого предложения подходящее по смыслу слово.
1. The … line was shut down for two hours as a result of damaged machinery.

a) production; b) delivery; c) control

2. Information on … prices is available to brokers throughout the world.

a) market; b) share; c) trading

3. I am going to … my trip to New-York. The situation changed completely.

a) deny; b) refuse; c) cancel

4. The recent boom in consumer spending resulted in sales … .

a) recession; b) growth; c) improvement

5. Hewlett Packard is known as one of the most reputable … in the electronic and computer industry.

a) customers; b) suppliers; c) buyers

6. What is the secret of their fantastic commercial …?

a) production; b) success; c) market

7. A movement of money into or out of an account is called  ….

a) transaction; b) option;  c) invoice

8. We decided to … the new model at the trade fair in autumn.

a) manufacture; b) produce; c) launch

9. Our company is ready to sponsor the city football team if they wear our … on their shirts.

a) logo; b) brand; c) slogan

10. The 1929 … market crash led to the great depression in many countries.

a) share; b) stock; c) stake

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 18

Вставьте в пропуск каждого предложения подходящее по смыслу слово.
1. During the bear market a lot of firms went … .

a) ahead; b) bankrupt; c) melding

2. Monthly salaries of our staff go directly into their  … .

a) invoices; b) interests; c) accounts

3. My cash … was $ 300.

a) credit; b) sum; c) deposit

4. If you own some shares of a company you receive … per share.

a) interest; b) dividends; c) salary

5. He … most of his savings in the Stock Exchange.

a) gave; b) fixed; c) invested

6. A great number of companies in Russia were … by the 1998 financial crash.

a) effected; b) affected; c) infected

7. This type of coffee is the … leader.

a) logo; b) slogan; c) brand

8. Last month they started their advertising campaign with the new corporate ….

a) slogan; b) team; c) appeal

9. New technologies make global … easier.

a) communication; b) travelling;  c)  market

10. You can buy the same software quite … at our local market.

a) reasonable; b) cheaply; c) free

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 19

Вставьте в пропуск каждого предложения подходящее по смыслу слово.
1. The income made by the normal activities of a business is known as ….  

a) turnover; b) operating profit; c) gross profit

2. Fixed assets are what a company ….

a) owes; b) owns; c) sells

3. Current liabilities are what a company ….

a) invests; b) buys; c) owes

4. Wealth used to produce more wealth is called ….

a) liabilities; b) capital; c) goods

5. Balance sheet is a statement of how much … has come in and how much has gone out.

a) shares; b) money; c) capital

6. The goods which a company intends to sell to its customers are known as….

a) a stock;  b) a capital; c) a stake

7. Venture capital is money lent to ….

a) spend on charity; b) start a risky business; c) buy an estate

8. In the summer sales you can sometimes get warm clothes at a … prices.

a) free; b) cheaply; c) giveaway

9. I’m a salesman and work in the … department.

a) export; b) advertising; c) production

10. Due to our new supply system more products are … to consumers.

a) available; b) reduce; c) limited

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 20
Вставьте в пропуски каждого предложения словосочетания, подхо​дящие по смыслу.
a) office work; b) financial control; c) problem solving; d) clean driving licence;  e) night shift;  f) pragmatic approach; g) particular responsibilities; h) R&D Manager
; i) computer operator; j) creative individuals

1. She’s an … of this team. We can’t do without her.

2. You get more money if you work on … but it ruins your social life.

3. He had a very … to solving problems.

4. I didn’t get the job as a driver as I didn’t have a … .

5. My … are health and safety but I’m also concerned with the general welfare of employees.

6. …. is a person whose profession is to operate a computer.

7. They made these things by means of skill and intelligence. They are very ….

8. My… is  to do important duties in the office.

9. Can you find approach to …?

10. Who takes over … for this project?

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 21

Вставьте подходящее по смыслу слово (a–j) в пропуски предложений (1–10) в тексте.
a) safeguarding; b) credit; c) mortgage; d) securities; e) debt; g) interest; h) lending; f) financing; i) capital; j) conditions
With the (1) … crunch, Fannie and Freddie, the country’s (2) …. giants, have become more important than ever, (3) … some 80 % of mortgages. So they will need to keep (4) …. Nor is the scope to offload their portfolios of mortgage-backed (5) …, given that there are scarcely any buyers of such (6)…. And if the Fed has to worry about (7) …. Fannie and Freddie, can it afford to raise (8) … rates to combat inflation? American monetary policy may be constrained. Fannie and Freddie can survive without raising (9) … until market (10) … improve.

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 22
Вставьте подходящее по смыслу слово (a–j) в пропуски предложений (1–10) в тексте.
a) developed; b) reason; c) workers; d) retirement; e) losing; f) employees; g) training; h) staff; i) generation; j) unemployment 
In France the (1) … age is 60, not 65 as in most (2) … countries. The main (3) … is that in the 1980s, when there was high (4) …, the government promoted early retirement. That entrenched the idea that older (5) … were less productive. Now companies are worried about (6) … their most skilled workers, especially as the baby-boom (7) … nears retirement. Areva, a nuclear-power group, recently launched a scheme to address the needs of older (8) …, and plans to use about 100 retired people a year through Experconnect.  Areva stopped (9) … engineers, so that much of its expertise lies with its (10) … .

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 23
Вставьте подходящее по смыслу слово (a–j) в пропуски предложений (1–10) в тексте.
a) decrease; b) increase; c) cost; d) reasons; e) prices; f) suppliers; g) economists; h) a shortage; i) wages; j) customers  

Inflation is an overall (1) … in prices over a certain period of time. In most of Europe, for example, (2) … have risen year after year for at least the last 50 years. Deflation is an overall (3) … in prices, but the trend is mostly for the (4) … of living  to increase.


Inflation can happen for a number of (5) …, but the (6) … say there are two main culprits. These are demand-pull inflation and cost-push inflation. Demand-pull inflation can happen when the economy is growing fast. Aggregate demand begins to grow faster than (7) … can cope with. This causes (8) … and prices rise. At first, ( 9) … may be able to pay the higher prices, and demand grows again. Cost-push inflation, on the other hand, occurs when prices rise without an increase in demand. This happens when suppliers’ variable costs increase sharply. For example, workers may demand higher (10) … or raw materials may become more expensive. Producers then pass these increases on to consumers by raising prices. So, as usual, we are ones to pay.

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Тест 24

Вставьте в пропуски (1–10) предложений в тексте подходящее по смыслу слово (a–j).
a) interest; b) income; c) economy; d) consumer; e) resources; f) influence; g) to spend; h) products; i) producers; j) businesses
Most people earn their (1) … from the work they perform. Some people also receive income by renting or selling land and other natural (2) … they own, as profit from a business or entrepreneurial venture, or from (3) … paid on their savings accounts or other investments. In a market (4) …, the basic resources used to make the goods and services that satisfy (5) … demands are owned by private consumers and households. Payments or incomes that households receive for these resources rise and fall – and that fluctuation has a direct (6) … on the amount consumers are willing (7) … for the goods and services they want.

Whether consumers are young or old; male or female; rich, poor or middle class, every dollar or pound they spend is a signal – a kind of economic vote telling (8) … what goods and services they want to see produced. Consumer spending represents the basic source of demand for (9) … sold in the marketplace, which is half of what determines the market prices for goods and services. The other half is based on decisions (10) … make about what to produce and how to produce it.

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


Teст 25
Вставьте в пропуски (1–10) предложений в тексте подходящее по смыслу слово (a–j). 

a) a profit; b) a bank; c) business; d) provide; e) growth; f) to earn; g) offer; h) government; i) deposits; j) to achieve

The way in which (1) … is organized and operates is determined by its objectives and by the type of economy in which it conducts its (2) … . A bank may not necessarily be in business to make (3) … . Central banks, for example, (4) … a country with a number of services, while development banks exist to increase the economic (5) … of a country and raise the living standard of its population. On the other hand, the aim of commercial banks is (6) … profits. They therefore provide and develop services that can be sold at a price that will yield a profit.

Many banks (7) … a combination of wholesale and retail banking. The former provides large-scale services to companies, (8) … agencies and other banks. The latter mainly provides smaller-scale services to the general public. Both types of banking, however, have three essential functions, which are: (9) …, payments, credits. These three functions are the basis of the services offered by banks. They make it possible for banks to generate profits and (10) … their operating aims.

Оформите ваши ответы в таблице
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	


ГРАММАТИЧЕСКИЙ СПРАВОЧНИК

1. Причастие I

Причастие настоящего времени действительного залога образуется от инфинитива глагола прибавлением к нему суффикса -ing.
Например: read + -ing = reading
Причастие I на русский язык переводится причастием с окончани​ем-щий или деепричастием. 

Например: reading – читающий, читая

Причастие II

Причастие II – причастие прошедшего времени страдательного залога, у правильных глаголов образуется от инфинитива при помощи суффикса -ed, а у неправильных глаголов является третьей формой. Если глагол оканчивается на букву е, то добавляется только окончание d. 
Например:

	produce + ed  > produced
	

	write > written


Причастие II переводится на русский язык причастиями с оконча​ниями -ный, -мый, -тый. Например:

produced – производимый, произведенный, written – написанный

Например:

Customers can get information of all the produced goods in the catalogue.

The goods produced by the company are in great demand.

Причастия (простые и сложные)
Причастия бывают простые, т.е. состоящие из одного слова, и слож​ные, состоящие из двух-трех слов:
Например:

1. Serving as a means of exchange, money is essential in economy.

2. Having introduced new technolo​gy, the enterprise increased out put.
3.The commodities produced by the company were of high quality.

4. Being traded openly on the stock exchange, government securities make monetary policies more flexible.
2. Существительное в функции определения
Если подряд стоят два или более существительных без предлогов, образуя так называемую так называемую «цепочку существительных», то все они явля​ются определениями к последнему в этой «цепочке» существительному. При переводе на русский язык существительному в функции определе​ния может соответствовать либо прилагательное (market economy - рыночная экономика, government restrictions).
3. Глаголы, выражающие долженствование

Долженствование может быть выражено рядом модальных глаголов, за которыми непосредственно следует инфинитив (с частицей to или без нее). Особенности значения этих модальных глаголов показаны в следующей таблице.
	Глаголы
	Значение
	Перевод

	Must/have to
	Необходимость совершить действие в силу обстоятельств
	Должен/вынужден

	Be to
	Необходимость совершить действие в связи с предварительной договоренностью или имеющимися планами
	Должен/обязан

	Should/ought to
	Советовать, 
рекомендация
	Должен/следует


4. Оборот «to be + of+ существительное»

В этом обороте глагол to be переводится, как иметь, представлять.

Например:

His latest managerial decisions are of great use for the firm.

Good textbooks are of high value for a student

5. Бессоюзное присоединение определительных придаточных 
предложений

В английском языке в определительных придаточных предложениях союзные слова who, which, that (который), when (когда) могут быть опущены. Если за двумя рядом стоящими существи​тельными (или существительным и личным местоимением в об​щем падеже) следует глагол в личной форме, второе существи​тельное (или местоимение) обычно является подлежащим прида​точного предложения, которое присоединено к главному без со​ юза. Например:

Money can be used to buy things | we wish to consume.

На стыке слов things и we опущено союзное слово which или that. Такие придаточные предложения на русский язык переводятся с до​бавлением союзного слова который: Деньги можно использовать для покупки вещей, которые мы хотим потреблять.

Если в конце такого придаточного предложения имеется пред​лог, то он переводится с добавлением союзного слова который. 
6. Независимый причастный оборот

Независимый причастный оборот – это причастный оборот, имею​щий свое «подлежащее».

Независимый причастный оборот распознается в предложении по следующим признакам:

1) причастие стоит на месте сказуемого и имеет свое «подлежащее»;

2) от основной части предложения оборот отделяется запятой. Предложения с независимым причастным оборотом строятся сле​дующим образом (П – подлежащее):

«П» + причастие + второстепенные члены, П + сказуемое + ...

или наоборот:

П + сказуемое + ... , «П» + причастие + второстепенные члены

Если независимый причастный оборот предшествует основной час​ти предложения, на русский язык он переводится придаточным пред​ложением с союзами так как, когда, если в зависимости от смысла все​го предложения.

Если причастный оборот употребляется после основной части пред​ложения, он переводится предложением, присоединяемым словами причем, при этом, а, и. Причастный оборот после основной части пред​ложения может начинаться словом with, что не меняет его значения и способа перевода.

Причастие в независимом причастном обороте переводится как ска​зуемое. Перфектные формы причастия переводятся глаголом в совер​шенном виде. Например:

The country having a budget deficit, inflation may follow.

A bank is a business, its owners and managers aiming to maximize prof​its.

Money has a number of functions, with medium of exchange being the principal function.

Если в стране имеется бюджетный дефицит, может последовать ин​фляция.
Банк – это предприятие, где и его вла​дельцы и управляющие ставят своей целью максимальное увели​чение прибылей.
Деньги имеют ряд функций, при этом средство обмена – это ос​новная функция.

7. Отглагольное существительное и герундий

В английском языке есть три формы с суффиксом -ing: причастие I, отглагольное существительное и герундий. Эти формы важно различать, чтобы суметь найти их эквиваленты в русском языке.

При переводе на русский язык отглагольного существительного трудностей не возникает, так как в русском языке ему всегда соот​ветствует тоже существительное. Как и обычное существительное, оно может употребляться с артиклем, иметь определение, выражен​ное прилагательным, иметь форму множественного числа. Чаще всего встречается следующая форма отглагольного существительного – the planning of, т. е. слева стоит определенный артикль, справа предлог of. 

Герундий обозначает название процесса. В отличие от отглагольно​го существительного, за герундием часто следует прямое дополнение, т.е. дополнение без предлога, но переводятся и герундий, и отглаголь​ное существительное одинаково. Например:

The planning of production helps to avoid income losses.

Planning production helps to avoid income losses.

Governments redistribute incomes within the nation by the levying of taxes.

Governments redistribute incomes within the nation by levying taxes.

Сложные формы герундия
Герундий имеет простую, перфектную и пассивную формы.

	
	Active
	Passive

	Simple
	increasing
	being increased

	Perfect
	having increased
	having been increased


Простая форма (Simple) указывает на то, что действие, выраженное герундием, происходит одновременно с действием, выраженным ска​зуемым. Перфектная форма (Perfect) показывает, что действие, выра​женное герундием, предшествует действию, выраженному сказуемым; в русском языке этой форме соответствует глагол в прошедшем време​ни. 

8. Инфинитив в функции подлежащего

Если предложение начинается с инфинитива, за которым следует глагол-сказуемое, то этот инфинитив является подлежащим, и перево​дится на русский язык глаголом в неопределенной форме или суще​ствительным. 

9. Инфинитив в функции обстоятельств цели и следствия

Инфинитив (или инфинитивная группа, т. е. инфинитив с уточня​ющими его словами), находясь в начале предложения, может выпол​нять и другую функцию: он может быть не подлежащим, а обстоятель​ством цели. Такой инфинитив часто вводится союзом in order (чтобы, для того чтобы).
Однако союз in order часто опускается, и тогда предложение начи​нается с инфинитива (или инфинитивной группы). При переводе на русский язык перед таким инфинитивом следует добавить союз чтобы. 
Итак, инфинитив в начале предложения переводится на русский язык либо неопределенной формой глагола (если это инфинитив в функции подлежащего), либо неопределенной формой глагола с союзом чтобы (если это инфинитив в функции обстоятельства цели).

Сравните:

1. То create jobs for young people means to lower juvenile delinquency.

2. To create jobs for young people the government allocated additional means.

Следовательно, обнаружив в начале предложения инфинитив, надо сначала попытаться перевести его, не добавляя союза чтобы (в первом примере: «Создавать рабочие места для молодежи означает снижать уровень преступности среди молодежи»). Если это не удается (во вто​ром примере), значит, следует добавить союз чтобы: «Чтобы создать рабочие места для молодежи, правительство выделило дополнительные средства».

Инфинитив в функции обстоятельства цели может находиться не только в начале предложения, но и после дополнения или обстоя​тельства, причем союз in order и в этом случае часто опускается. 

Инфинитив в предложении выполняет также функцию обстоятель​ства следствия и переводится неопределенной формой русского глаго​ла с союзом чтобы (для того чтобы) после слов enough (достаточно) и too (слишком). Например:

The average wage in this industry is high enough to attract workers from other industries.

The wage in this enterprise is too low to attract qualified workers.

Средняя заработная плата в этой отрасли достаточно высока для того, чтобы привлечь рабочих из других отраслей.

Заработная плата на этом предприятии слишком низкая, что​ бы привлечь квалифицирован​ных рабочих.

10. Инфинитивный оборот

«for + существительное / местоимение + инфинитив»

Оборот «for + существительное (личное местоимение в объектном падеже) + инфинитив» является в предложении подлежащим, если употребляется после слов it is necessary / important / possible и т.п. или обстоятельством следствия после слов too (слишком), enough (достаточ​но) или обстоятельством цели. Во всех случаях инфинитивный оборот соответствует русскому придаточному предложению с союзом чтобы, а инфинитив в таком придаточном предложении переводится сказуе​мым. Например:

It is necessary for society to allocate resources sparingly.

The production costs in the enterprise are too high for it to work profitably.

For advanced technology to be introduced, the owner invested his profit in new equipment.

11. Инфинитив в функции определения

Инфинитив или инфинитивная группа, следующие за существитель​ным, могут являться определением к этому существительному.

Инфинитив в функции определения может переводиться на русский язык различными способами:

1. Инфинитив переводится неопределенной формой русского гла​гола. 

2. Инфинитиву соответствует в русском языке определительное при​даточное предложение, начинающееся словами который будет или который должен. Сказуемое такого придаточного предложения обозначает действие, которое должно произойти в будущем. Инфинитив, пе​реводимый придаточным предложением, чаще всего имеет пассивную форму (to be used, to be produced и т. п.). 
Например:

The Gross National Product per head is an important characteristic to be considered in determining living standards.

Валовый национальный продукт на душу населения - это важная характеристика, которая должна приниматься во внимание при определении уровня жизни.

1. Инфинитиву соответствует в русском языке определительное придаточное предложение, начинающееся словами который мо​жет. Сказуемое такого придаточного предложения обозначает действие, которое можно произвести с определяемым существи​тельным. Инфинитив имеет, как правило, пассивную форму. 

12. Употребление временных форм глагола в действительном залоге

(Active Form)

(на примере правильного глагола to ask – спрашивать)

	Инфинитив

Время
	Simple
(to ask)
	Continuous
(to be asking)
	Perfect

(to have asked)

	Present
	  Ask

  Asks (he, she, it)
	Am   /asking

Is      /asking

Are   /asking
	Have    /asked

Has      /asked

(he, she, it)

	Past
	   Asked
	Was   /asking

Were /asking
	Had asked

	Future
	   Shall (I, we) /ask
   Will /ask


	Shall  /be asking

Will   /be asking
	Shall /have asked

Will /have asked


Употребление временных форм глагола в страдательном залоге (Passive Form)

To be + Participle II
(В соответствующем времени)

	Инфинитив

Время
	Simple

(to be asked)
	Continuous
	Perfect

(to have been asked)

	Present
	Am  /asked
Is     /asked
Are  /asked
	Am /being asked
Is    /being asked
Are /being asked
	Have/been asked
Has/been asked

	Past
	Was /asked
Were /asked
	Was /being asked
Were /being asked

	Had been asked

	Future
	Shall (I, we)/ be asked

Will /be asked
	–
	Shall /have been asked
Will /have been asked


13. Сложное дополнение, или Complex Object, на самом деле не такое уж и “страшное”, каким оно может кому-то показаться. Определенную трудность представляет эта конструкция для русскоязычных студентов только потому, что в русском языке нет ей аналога.  Complex Object (сложное дополнение) – это одна из конструкций в английском языке с участием инфинитива (неличной формы глагола, отвечающей на вопрос «что делать?») или герундия (неличной формы глагола с окончанием -ing, имеющей свойства глагола и имени существительного). Рассмотрим примеры предложений с такими конструкциями:

 

1. I want my granny to take me to the circus.

2. Miss Bright believed Brown to have stolen the money.

3. They expected him to be caught by the police.

4. Margaret believes Elizabeth to be very bright.

5. She saw the door close behind them.

6. He heard her be really rude to Peter yesterday.

  
Мы замечаем, что инфинитив при переводе каждый раз «исчезает», в русской версии ему соответствует глагол в какой-либо личной форме (to take – «сводила», to have stolen – «украл», to catch – «поймает»). Итак, инфинитив в таких конструкциях при переводе согласуется с предшествующим глаголом-сказуемым, в наших примерах это глаголы «хочу», «считала», «думали» и т. д.

Кроме того, при переводе нам во всех случаях, кроме одного, потребовались «дополнительные» слова, которых в английском варианте нет, а именно союзы «что», «чтобы», «как»: «…хочу, чтобы…», «…считала, что…» и т. д. Мы видим, что в английском предложении со сложным дополнением отсутствует какой бы то ни было союз.

Заметим также, что во всех шести примерах фиксируется главный исполнитель действия (Мисс Брайт, Маргарита, они и т. п.) и какой-либо субъект или объект (бабушка, Елизавета, дверь и т. п.), с которым главный исполнитель связывает свои ожидания, наблюдения, о котором он имеет какое-либо мнение. Главный исполнитель действия – подлежащее в предложении, субъект или объект – дополнение. Почему это сложное дополнение? Потому что к нему «прикреплен» инфинитив, «усложняющий» дополнение.

 Таким образом, сложное дополнение в предложении имеет следующую структуру:

 

(подлежащее) + (глагол-сказуемое) + объект или субъект + инфинитив
 

Обратите внимание, что местоимение, занимающее позицию субъекта или объекта, употребляется в так называемом объектном падеже (не путайте с притяжательным падежом), а не в именительном.

При повторном внимательном ознакомлении с примерами возникает вопрос: почему инфинитив не во всех английских примерах употребляется с частицей to? Сравним: Margaret believes Elizabeth to be very bright.

She saw the door close behind them.

Все дело в глаголе-сказуемом. Если сказуемое выражено глаголами чувства, восприятия (see, hear, watch и т. п.), а также глаголами make, let, то частица to не употребляется.

Мы не рассматривали на этой страничке конструкцию “Сложное допонение с причастием настоящего времени” (например, I saw you dancing – Я видел, как ты танцевала), принцип ее образования тот же, что и с инфинитивом. При переводе на русский язык таких конструкций смысл высказывания может немного изменится, по сравнению с аналогичными конструкциями с инфинитивом. 

Например, I saw her cross the road. – Я видел, как она перешла улицу (и скрылась за углом) – инфинитив выражает краткость действия, говорящему не нужно привлекать внимание слушающего к процессу перехода девушкой улицы. Другой пример: I saw her crossing the road. – Говорящему нужно обратить внимание слушающего на процесс перехода улицы, возможно, он описывает ДТП и подробнее останавливается на деталях. 

Иногда разница в употреблении причастия и инфинитива в Complex Object почти неразличима. Еще для правильного понимания конструкции «Сложное дополнение» важно уметь отличать перфектный инфинитив и инфинитив в страдательном залоге от простого инфинитива, но это уже отдельная тема.

14. Since и for используются в похожих, но не полностью идентичных целях. Они употребляются в схожем ключе во временах Past Perfect Simple и Past Continuous и относятся ко времени наступления какого-либо события.

Используйте since для обозначения начала временного промежутка, продолжающегося до настоящего времени. Since используется для обозначения стартовой точки какого-либо события, действия или состояния. При этом since может употребляться только в совершенном времени.

15. Местоимение one
Местоимение one (по форме совпадающее с числительным  one один) имеет два основных значения:  неопределенно-личное   и слова-заместителя.
Местоимение one употребляется в качестве местоимения-существительного. В именительном падеже one выступает в функции подлежащего или дополнения, а в притяжательном падеже – one’s – в функции определения. Имеет форму множественного числа – ones. На русский язык обычно не переводится. 

one – некто, некий, кто-то
1. Подлежащее в неопределенно-личных предложениях. В предложениях этого типа употребляется только форма единственного  числа  one и притяжательного падежа one’s.

	One never knows what may happen.
	Никто не знает, что может 
случиться.


If one wants a thing done, one had best do it oneself. Если хочешь, чтобы дело было сделано, сделай его сам. = Если некто хочет, (чтобы) что-то/(вещь) было сделано, некто должен лучше сделать это сам.
В состав сказуемых предложений с неопределенно-личным подлежащим one часто входят модальные глаголы (must, can, should и др.).
	One must be careful in the street.
	Нужно быть осторожным 
на улице.

	One must not smoke here.
	Нельзя курить здесь.


В притяжательном падеже one’s используется в роли определения к неопределенно-личному подлежащему one:

	One must keep one’s word.
	Нужно придерживаться данного слова.

	One must always do one’s duty.
	Всегда нужно выполнять свой долг.


Может выступать в функции дополнения в значении кого-либо, кому-либо и т. п.
It offends one to be told one is not wanted. Каждый обидится, когда ему скажешь, что он не нужен. =  It offends one (это обижает кого-либо/каж​дого) to be told (ему скажут) one is not wanted (он/кто-либо не требуется).

Высказывания с one считаются слишком официальными, книжными и в разговорной речи предпочтение отдается менее официальному you.
	You/One never can tell.
	Трудно сказать.

	You/One shouldn’t drive faster than your/ one’s angel can fly.
	(вам) Не следует ездить быстрее, чем (ваш) ангел может/умеет летать.


 

2.  В качестве слова-заместителя местоимение one употребляется вместо упомянутого ранее существительного, чтобы избежать его повторения. Употребляется вместо исчисляемых существительных в единственном (one) и множественном числе (ones). Форма притяжательного падежа в этом качестве не употребляется. Может относиться к лицам и неодушевленным предметам; чаще не переводится.

Take my pen. – Thank you, I’ve got one. 

Возьми мою ручку. – Спасибо, у меня есть (ручка).
Is there a bank near here? – Yes, there is one at the end of this street. Здесь есть поблизости банк? – Да, есть, в конце улицы.
Неисчисляемые существительные не заменяются на one (ones). Они либо повторяются, либо опускаются.

I prefer French cheese to Dutch. 

Я предпочитаю французский сыр голландскому (сыру).
Типичные случаи употребления one в этом качестве:

а) Определенный артикль the + one + индивидуализирующее определение. 
Может переводиться существительное, которое оно заменяет или словами тот; та; тот, который.
	This book is more interesting than 
the one we read last week.
	Эта книга интереснее той, которую мы читали на прошлой неделе.

	Which hotel did you stay at? –
The one near the station.
	В какой гостинице вы остановились? –  В той, которая возле станции.


б) Прилагательное (в положительной или сравнительной степени; после превосходной степени one обычно опускается) + one (ones). Например, в единственном числе.
	I’d (I would) like to try on one of these shirts. Please, give me the white one.
	Я хотел бы примерить одну из этих рубашек. Дайте мне, пожалуйста, белую.


Во множественном числе (ones):

	I prefer red roses to white ones.
	Я предпочитаю красные 
розы белым.


в) Факультативно (не обязательно) после местоимений this, that, which, another, the other.
	one – единственное число:
	ones – множественное число:

	which one (?) – который (?)
	which ones (?) – которые (?)

	this one – эта, этот
	these – эти

	that one – та, тот
	those – те

	the one – та, тот, который
	the ones – те, которые

	the other one – другой
	the others или the other ones – другие

	This pencil is better than that (one).
	Этот карандаш лучше, чем тот.


Here are some books. Which ones would you like?  – Вот несколько книг. Какие вы хотите?
Во множественном числе после these, those местоимение ones не ставится, а просто опускается.

г) Может употребляться после порядковых числительных the first, the second… и слов the last, the next. 
	Two boys entered the classroom. The first one was Peter.
	Два мальчика вошли в класс. Первый (мальчик) был Петр.


One (ones) не употребляется после both; притяжательных местоимений: my, her, our… (за ними всегда должно следовать существительное, а при его отсутствии они употребляются в форме местоимения-существительного: mine, hers, ours.);не употребляется после существительных в притяжательном падеже.

Whose pen is this? – It is (It’s) my pen. = It’s mine. (здесь нельзя my one) Чья это ручка? – Моя (ручка).

д) The one может употребляться в значении человек, замещая слова man, woman, girl и т.п. в предложениях с индивидуализирующими определениями.
	I’m the one who did it.
	Это я сделал. (Я – тот, кто…)

	She’s the one who I’m crazy about.
	Она – та, от кого я без ума.


е) Форма мн. числа ones также употр. в сочетании: артикль the + прилагательное (причастие) + ones  для обозначения всех людей, характеризующихся этим прилагательным, например: the young ones молодежь, молодые, the loved ones влюбленные.

ж) Широко употребляется в рекламных обращениях.
	New items for the Little Ones.
	Новые товары для детей/для маленьких.


16. Конструкция «сложное подлежащее»

Мы уже знаем, что в английском языке существует такая конструкция, как Complex Object или сложное дополнение. Обычно параллельно с изучением такого дополнения, часто объясняют и сложное подлежащее, которое именуется как Complex Subject в английском языке (the Nominative with the Infinitive). Эти конструкции похожи лишь тем, что в них обеих используется инфинитив в английском языке. Однако, в отличие от сложного дополнения, в сложном подлежащем основными составляющими элементами помимо инфинитива является либо имя существительное в общем падеже, либо местоимение в именительном падеже. А инфинитив в Complex Subject в английском языке может быть во всех своих шести формах. Например:

· to write
· to have written
· to be written
· to have been written
· to be writing
· to have been writing
В предложениях с конструкцией Complex Subject еще одним основным элементом является сказуемое, особенно глагол, которым оно выражено. Так как именно от глагола будет зависеть, в действительном (активном) или страдательном (пассивном) залоге будет стоять сказуемое. Предложения с конструкцией Complex Subject в английском языке обычно переводятся на русский язык с помощью таких оборотов, как «говорят, сообщают, думают, видели, слышали, оказалось, случилось» и т. п.

Употребление Complex Subject в английском языке: 
примеры и правила

Как уже отмечалось, конструкция Complex Subject в английском языке применяется с определенными глаголами. Эти глаголы условно можно разделить на несколько групп. Итак, в качестве сказуемого в предложении могут находиться глаголы, выражающие:

1. Осведомленность, знание, утверждение: to know (знать), to think (думать), to state (заявлять, утверждать), to report (сообщать), to say (говорить), to announce (сообщать).

She is known to live in France. – Известно, что она живет во Франции.

The film festival was reported to take place in July this year. – Сообщали, что кинофестиваль пройдет в июле в этом году.

He was thought to study here. – Думали, что он учится здесь.

2. Предположение: to expect (ожидать), to suppose (предполагать), to believe (верить), to consider (считать, полагать), to ask (спрашивать).

The student is expected to become a famous writer. – Ожидают, что этот студент станет известным писателем.

The tickets were supposed to be sold in the afternoon. – Предполагали, что билеты продадут к обеду.

3. Восприятие: to see (видеть), to hear (слышать).

The car was seen to disappear. – Видели, как машина скрылась.

She was seen to enter. – Видели, как она вошла.

4.Также Complex Subject в английском языке используется после таких словосочетаний, как to be likely (вероятно), to be unlikely (маловероятно), to be certain (несомненно), to be sure (обязательно).

She is likely to succeed. – Вероятно, ее ждет успех.

The bag is not likely to have been stolen. – Маловероятно, что сумку украли.

Все перечисленные глаголы, будучи сказуемыми, могут стоять в любом времени, но только в страдательном (пассивном залоге – Passive Voice). Есть еще группа глаголов, которые употребляются с конструкцией Complex Subject в английском языке, но в действительном (активном – Active Voice) залоге. Это следующие глаголы: to appear – появляться, казаться; to seem – казаться; to happen – случаться; to prove / to turn out – оказаться.

The second part of the movie appeared to be less interesting. – Оказалось, что вторая часть фильма не такая интересная.

He seems to be sleeping. – Кажется, что он спит.

На самом деле, конструкции Complex Object и Complex Subject не представляют никакой сложности, а, наоборот, облегчают нашу речь, делая ее более похожей на англоязычную, а не на речь родного языка. Они очень популярны и употребляются повсеместно, поэтому постарайтесь не обойти их стороной, а уделить им внимание.
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